SPARE PARTS

IDENTIFICATION -+ssseressserssssnesssnemssssnnsssssesssssessssnsnsssssnsssnnes Q002
SPARE PARTS
CLAMP SCREW :++seerssssrrssssmmsssntsnssnnsssssnssssssesssssesssssssssnnnes Q003
SET BOLT -+rrrrererrrrersssrrsssresssssesssssssssssnesssnsessssssssssnsssssnes Q009
SHIIV -++reeresrssnmrerssssssnnessss st s e s s snnn s s s san e n e e s s s nn e e e e nnn e Q010
SHIM PIN AND CLAMP LEVER:+++sstssssssrssssserssssnssssannsssnes Q013
LOGCK PINterrssssssrrrsssssssserersssssnnssmsssssnnensssssssnsesssssssnnensssssnss Qo014
CLAMP BRIDGE :++++ssssseerssssesssssssssssssmsssnnssssssnsssssnsssssssssnnes Qo014
BREAKER PIEGCE +++ssrereessssssssassssssssnnnsssssssssnsssssnsessssssnns Qo016
ANTI SEIZE LUBRICANT ++++rsssssessssserssssnssssnnesssssnnssssnnsnas Q017
REPLACEMENT PARTS FOR OLD TYPE TOOLS
TURNING HOLDERS -+++++ssssssssseesssssssnnnesssssssnneesssssssnnnnnas Q018
GROOVING/CUTTING OFF «++rssseersssserssssnmssssnsssssnessssseens Q023
BORING BARS :++sserresssssssnerssssssssnsesssssssssesssssssnnsessssnsns Q024
BORING UNITS =+rseeeressrrrssssnmssssnnssssnsssssssesssnnsssssnesssssenas Q027
FAGCE MILLS -++++esssssssrrrrssssssnnnersssssssessssssssssesssssssnnensssnsnns Q028
INDEXABLE TYPE END MILLS -++++ssrsssssesssssresssssessssnnnas Q034
BALL NOSE END MILLS :+++eessssseessssresssnnensssnssssssnessssnnnss Q039

INDEXABLE TYPE DRILLS ++-+erersssseesssssesssssrssssnesssnnens Q041




SPARE PARTS

Q002

SPARE PARTS

IDENTIFICATION

H IDENTIFICATION OF CLAMP SCREW (Metric Coarse Right Screw Thread)

H

SC

060

05

@ Hexagonal

Hole Dimensions

Hex: 1al Hole
Dimensions

—{ with stot |f—— ¢

With Cross Hole c

l IDENTIFICATION OF WRENCH

HKY

15

Symbol

Wrench

HKY

Hexagonal Wrench

TKY

Torx Wrench

TIP

Torx plus Wrench

Example Diameter| Pitch B Dimensions
Symbol| L HBH | HFC | HSC | HS::
05 5 M2 0.4 - - 15 0.9
10 | 10 M2.5 | 0.45 - - 2 1.3
20 | 20 M3 0.5 2 2 2.5 1.5
30 | 30 M4 0.7 25 | 25 3 2
Example M5 0.8 3 3 4 25
_m}_Symbol p M6 1 4 4 5 3
Diameter M8 125 | 5 5 6 4
050 } M5 M0 |15 |6 |6 |8 |5
060 | M6 -
BH CHUUBURASHI CO. Button EE -
BHA UNBRAKO CO. Head L
FC [cHuuBURASH COf———— Flat Head "'E
== | Socket )
lil Head [E E
l Screw Head } { PM } Pan Head - ©
Symbol Shape )
FM Flat Head "-'E
1 © .
o | JIS Set Screw |-)
1 SD | Standard (Cut Point) It )®
Symbol|  Shape
Man | Set Screw ]
@ L SP | (Cone Point) T e
Meo | Set Screw =l
Symbol| ~ Shape SR (Dog Point) T i
Moo | Set Screw 1
@ 1 SS | (Flat Point) "‘E
Standard
R — R | wrench ll
L
Long
Hexagonal Wrench Torx Wrench Torx plus®Wrench — L L Wrench
Symbol| B Symbol| B Size Symbol|  Size
15 1.5 06 [1.7] T6 06 6P | L1 [rwencn %
20 |2 08 (2.3 T8 07 7I1P
AN 25|25 10 |2.7| T10 08 8IP
) | [F [ Flag iy
‘\‘/ 30 |3 1513.3| T15 15| 15IP Fs| wrench Iyl
5| |35]35 5 | |20]3.8] T20 '
40 |4 25 (44| T25 L w Flag é@=_
50 |5 27 [5.0| T27 Wrench
60 |6 30 (5.5| T30 D
—os Driver | €_G——

IMX

10

Symbol Wrench
Wrench for

IMX .
IMX Series




SPARE PARTS

CLAMP SCREW
G Dimensions (mm) Angle| Drive Torque
eometry Order Number a b c d o | g° |Size|Nm) Tool Holder
AJS3010T10| 5 M3x0.5| 10 1.5 | 2.8 [120[T10] 2.5 | Profile Holder (©C030) AJX (W162) PMC (©M254)
- AJS4012T15| 7 M4x0.7| 12 2.2 | 3.4 [120({T15|3.5|[AJIX (DM162) PMC (DM254)
o © Vl_u 2| AJS5014T25| 8 M5x0.8| 14 2.7 | 4.5 (120({T25|7.5
BRS103 5 M3x0.5| 9.9| 2.9 | 3.4 |120({T15|3.5
BRS105 8 M5x0.8| 13.8 | 3.8 | 4.5 |120|T25|7.5
CS3(ForUsewih C3) | 7 M4x0.7/14.6| 2.6 | 2.5 [ — | — |2.2|F Type Boring Bar (DE026)
CS4(ForUsewth C4) | 9 M5x0.8|/15.4| 3.4 | 3 —| —133
CS5(ForUsewih C5)| 10.5 | M6x1 |22 | 4 4 — | —=|7.0|_. . )
This clamp screw is included with
the clamp as a set.
CAS51T 7.9 |M5x0.8| 19 5 45| 10|T25/8.5
CS200T 3.2 |[M2x0.4| 5 1.6 | 1.8 | 90|T6 |0.6 |F Type Boring Bar (©E025)
CS250T 3.7 |M2.5%x045| 6 1.8 | 2.4 | 90|T8 |1.0|Milling Tools Series (©M001)
* CS250560T 3.9 |M25x045| 5.2| 2.5 | 2.4 | 60/T8 |1.0|BRP (©M196)
CS300590T 41 |M3x0.5| 55| 2.1 | 24 | 90/T8 |1.0
CS300790TS| 4.7 |M3x0.5| 7 2.3 | 2.8 | 90({T10/2.0
CS300890T 4.1 |[M3x0.5| 8 21| 2.4 | 90/T8 |1.0|Boring Unit (©N012) DCCC (DM212)
* CS350760T 5.5 |M3.5x0.6| 7 4 3.4 | 60|T15/3.5
CS350790T 4.8 |[M3.5x0.6| 7 2.4 | 2.8 | 90({T10|2.5|v10000 (©M070)
* CS350860T 5.5 |M3.5x0.6| 8.4| 4 3.4 | 60|T15|3.5 | MMTI Type Boring Bar (©G028)BRP (©M196)
CS350990T 4.8 [M3.5x0.6| 9 2.4 | 2.8 [ 90{T10|2.5|0oCTACUT (©M180) DCCC (©M212)
CS400990T 6.0 |[M4x0.7| 9 2.8 | 3.4 | 90({T15/3.5
CS401160T 5.7 |M4x0.7| 11 45 | 3.4 | 60|T15/3.5
CS401990T 6.0 |M4x0.7|19 3.0 | 3.9 | 90|T20]|3.5|AL Holder (©C032)
CS451190T 6.3 |M4.5x0.75) 11 2.9 | 3.9 | 90({T20|5.0
* CS501160T 7.0 |M5x0.8| 11 3.6 | 3.9 | 60/T20/5.0
CS501290T 7.0 |M5x0.8| 11 3.5 | 4.5 | 90|{T25|7.5|0CcTACUT (©M180)
* CS5015060T | 7.2 |M5x0.8|15 2.4 | 3.9 | 60({T20|5.0 | AHX640S (©MO046)
CS502190T 8.5 |M5x0.8| 21 4.0 | 5.1 | 90|T27|7.5
CS6016060T | 8.5 |M6x1.016 45 | 45| 60|T25/7.5
CSF401260T 7.2 |M4x0.5|12 5.2 | 3.9 | 60|T20[5.0|PMR (@M258)
DC0520T 8.5 |M5x0.8/22.5| 2.5 | 3.4 | — |T15|3.5|DOUBLE CLAMP Holder (©C008)
DC0621T 10.5 |M6x1.0| 25 4 3.9 | — |T20|5.0 | DOUBLE CLAMP DIMPLE BAR (©E013)
HSK Tool Holder (QH001)
DKS4 5.6 |M4x0.7|18 35| 3 — | —133
DKS5 7.6 |M5x0.8| 19 45 | 4 — | —17.0

n SPARE PARTS

Qo003



SPARE PARTS

Q004

SPARE PARTS

SPARE PARTS

CLAMP SCREW
o Dimensions (mm) Angle| Drive Torque
Geometry rder Number a b c d o | g° |Size|Nm) Tool Holder
EGS06019 9 M6x1 |22.5| 3.5 | 3 —| — 33
© E— EGS08024 | 11 M8x1.25/28.5 | 4.5 | 4 —| —|7.0
e 4
[+
FC400890T | 56 |M4x0.7| 7.5| 1.3 | 2.8 [ 90 |T10|2.5 | AL Type Holder (C033)
AL Type Boring Bar (QE043)
5| ‘ < SMG Type Holder (©F118,G026)
L . d
€] c
GY05016S 8.7 |M5x0.8/16 | 3.5 | 3.9 [ 90 |T20|5.0|GY Series (©F004)
;:[-:l <
e
GY06013M | 12 M6x1.0(18 | 5 5.6 | — |T30/6.0|GY Series (DF004)
f=
e
HFF06015 | 10 M6x1 |15 | 6 5 |[80|— 82
»| = HHEHED
e d
c
HS4L 54 |M4x0.7(14 | 23 |25 (80| — |3.8
o ,,,E T _QI HS5S 6.8 |M5x0.8/ 9 |28 |3 [80|—33
- a HS5L 6.8 |M5x0.8/15 |28 |3 [80| — |6.6
s [ ¢
HSP05008C [M5%0.8| 8 — | — | 25| — | — |2.5|D Type Boring Head (©E042)
=5 MP Type Holder (©C018)
© u\ . 80°
e b
HY-A1 4.4 |M3x0.5| 7 |21 |2 |82| — |1.5(Boring Unit(©N012)
] HY-V1 55 |M3x0.5| 7 |25 |2 [82|— |15
| J - I = [HY2 55 |M3x0.5(10 |25 |2 (82| — |15
yd HY3 7 M3.5x0.6(12 |29 |2 |[82|— |15
€ = HY4 9.3 |M5x0.8/16 | 3.6 |3 [82| —[3.3
= JSS6 6.9 |M6x0.75| 45|15 |08 [ —| — | —
o Kt 2 JSS7 8 M7x0.75 4.4| 1.5 | 1 - ==
=
e <
@ 7 KS1 7 M4x0.7| 14 5 — | = | = | — |BC Type Cartridge (©N008)
i~ idge (©ON006)
of O | |Ks2 10 | Mex1 |18 |7 | — | = |—|— Lk Type Cartridge
o~ MI Type Boring Bar (©N015)
y KS3 8 [M4x0.7/14 |65 | — | —| — | — |55 Type Cartridge (ONO10)
. KS1S 7 M4x0.7({14 | 5 = | = | = | = |v10000 ®M070)
KS2S 10 M6x1 |18 | 7 - | =]=]-
T KS11 8 M5x0.8{19 | 3 &) = || = | 3.8
L = | H’] KS12 10 M6x1 |26 |4 |4 |—|—170
. d KS13 10 Méx1 |30 | 4 4 —| = |70
- £ KS14 13 M8x1.25/45 | 5 5 — | — (9.0
— LLR1 M5x0.8] — 35| — | 25 | — | — | — |LL Type Cartridge (©@N006)
© i LLR2 M6x1 - 5 - |3 il Bl
_e | c




Dimensions (mm) Angle| i
Geometry Order Number a b c d e | o %rg/ee Iﬁqu#s Tool Holder
% LLCS103 |M3x0.5| 4 11 462 — | — |1.5]|LL Type Holder (©C008)
* LLCS105 |M5x0.8|M5%0.8| 10 152 — | — |1.5|P Type Boring Bar (©QE035)
LLCS106 | M6x1 6 16.5| 3.5|2.5 | — | — |2.2|D Type Boring Head (©E040)
o Slad o [*LLCS106S| M6x1 6 134 | 0.7|25 | — | — |2.2|HSK Tool Holder (@H001)
] LLCS108 |M8x125| 8 (21 | 65|3 |—|— |3.3|KSMG (@©M252)
e d * LLCS108S(M8x1.25 8 165 2 |3 — | — | 3.3|Boring Unit (ON012)
£ LLCS110 [M10x15 10 |29 | 8 |4 | — | — |7.0|LL Type Cartridge (ONOO06)
LLCS112 (M12x1| 119 |36.2| 9 |5 - | —18.0
- o = LLCS125 [M5x0.8/M5x0.8| 12 2 |2 — | — 1|15
il tE LLCS205 [M5x0.8/M5x0.8| 16 4 |2 - | =115
e d LLCS206 | M6x1 6 26 |13 |25 | —| — |22
- c LLCS208 ([M8x1.25 8 24 6.5|3 —| — 133
LLCS103, LLCS105 LLCS306 | M6x1 6 21 4 (25| —|—1|22
LLCS112, LLCS125 LLCS308 ([Mm8x1.25 8 42 1275|3 - | —133
The pré_gi_lﬁ:?sz\?vﬁh "%" do not have a LLCS310 |M10x1| 10 29 8 4 —| =170
hexagonal hole at the end marked b. LLCS410 |M10%x1| 10 30 66| 4 — | —17.0
The products with "¢" do not have a LLCS508 | M8x1 8 24 653 —-|— 133
hexagonal hole at the end marked a. * LLCS508S| M8x1 8 205 3 3 — | — |33
LS1 M6x1 | 22 8 8 |3 — | —15.0
LS2 M8x1 | 29 13 |10 |4 — | — 182
LS3 M8x1 | 32 13 |13 |4 — | —18.2
* LS4 M6x1 | 15 8 4 3 — | — |5.0]|Milling Tools Series (©M001)
> 5 * LS5 M6x1 | 18 8 5 |3 — | —15.0
3 & |*LS6 Mex1| 24 (13 | 5 (4 |—|—]82
T g [*Ls7 mM8x1 | 27 (13 | 8 |4 |—|—|82
T T |*Ls8 Mex0.75( 18 | 7 | 7 |3 | —|— 50
% S |*Ls9 Mex075 22 | 8 | 8 |3 [—|— |50
= 1= *LS10 M7x0.75| 16 6 6 |4 — | — | 7.8 |FE404 (©QM266)
R el | *Ls11 M8x1 | 16 6 6 |4 - | =178
e c d *L.S12 M8x1 | 24 7 7 |4 — | —17.8
b *LS13 M8x1 | 34 |12 |12 |4 |[—|—1|78
o * LS14 M7x0.75| 24 10 |10 |4 — | — | 7.8 |FP490 (©M262) FP590 (©QM264)
e producs it e dopotnes  |xLS15 w075 18 |6 |8 |4 | —| |78
Hand Screw side. * LS16 M7x0.75| 23 1 8 |4 — | =178
* LS17 M8x1 | 42 17 |11 4 - | =178
* LS18 M7x0.75| 14 6 4 |4 — | — 178
* LS20 M10x1.5| 26 9 9 |5 - | —19.0
* LS21 M10x1.5| 32 12 |12 |5 — | —19.0
LS24 M8x1.25) 24 85| 854 — | = |7-8| pouBLE CLAMP Holder (©C014)
LS25 M8x1.0| 28.5 |12.0(10.5| 4 — | — | 7.8](For Heavy Cutting)
LS10T M7x0.75| 14 6 5 | 4.5 | — |T25/8.0|NF10000 (©M072)
o f 1] . LS14T M7x0.75| 24 10 |10 |4.5 | — [T25/8.0
S L | LS15T  |m7xo7s| 18 7 | 7 |45 | — |T25/8.0 | Aoxass ©nos0) SES15 (©M062) SG20 (OM0G4)
€ .| ég c _L§g LS19T M6x0.75| 11 4 4 |34 | —|[T15/5.0
%"’ b zc';” LS10TS [M7x0.75| 13 6 4 |45 | — [T25/8.5
- o LS0622T |M6x0.75| 22 8 8 |[3.4 | — |T15/6.0|AHX640W (DM054)
X — —_
. } I‘—F—"T NL LS24H M8x1.25| 24 85| 854 8.2
e §§ c b d EE_)
MGS6 10 M6x1 | 26 4 |5 — | —19.0
. - | n[
| ]
-€.| | c
MHT1 11 M8x1 |18.5| 35|4 — | — 187

’_a_
\L

*Ql/

SPARE PARTS

Q005



SPARE PARTS

SPARE PARTS

CLAMP SCREW
Dimensi Angle|pri
Geometry Order Number a |n:)en3|oni(mml| o ;goe [érlglee mq#s Tool Holder
NS251 3.6 |M25x045] 7 | — | 2.2 | 60| — | 0.7[SMALL TooLS (©D001)
NS401 58 |M4x07| 6 | — | 36| 60 — |35
NS402W 5.85 [M4x0.7[10 | — | 2.2 | 60] — | 0.7[SMALL TooLs (©D001)
NS403W 5.85 [M4x0.7[12 | — | 22| 60| — | 0.7
NS404W 58 |M4x0.7[10 | — | 22| 90| — | 0.7
NS501W 8  |M5x0.8/16 | — | 2.5 |120] — | 2.2[SMALL TooLS (©D001)
NS502W 8 |M5x0.8/20 | — | 2.5 |120] — | 2.2
RN-S4S 5.8 |M4x0.5 8.4|25| 34 | 61]T15] 3.5
AR : RN-S4M 58 |M4x0.5(10 |22 |34 | 61|T15/ 3.5
‘é{j, w| o He— a2 [RN-s4 58 |M4x0.5/12.5|22 | 3.4 | 61|T15 3.5
=~ 2 = RN-S5 8.1 |M5x0.5(15.4|3.6 | 3.9 | 61T20| 5.0
d RN-S6 9.5 |M6x0.75[20.3 | 4.6 | 3.9 | 61|T20| 5.0
RN-S7 11 |M7x0.75|24.7 | 5.2 | 45 | 61|T25| 7.5
RS3008T 4.3 [M3x0.35] 8.6]2 |24 | 61[T8 | 1.5]SRF Series (©M228) SUF Series (©M232)
RS3510T 5  M35x03510 |23 |28 | 61|T10| 2.5
ol e I n[ RS4015T 6  |M4x05[14 |27 |34 | 61|T15 3.3
J I RS5020T 8.1 |M5x0.5/16.4 |36 | 3.9 | 61T20 5.0
e A RS6025T 9.5 |M6x0.75(21.5|4.2 | 45 | 61|T25/ 7.5
RS8030T 12 |M8x0.75|25 |5 | 5.6 | 61T30[10.0
S1 3.5 |M2x0.4| 55]22 15 | 92| — | 1.0[Boring unit ©N012)
S3 45 |M3x05| 77242 |92/ —|15
o - —nl S4 53 |M4x0.7| 8 |18 |25 62 — |22
: L% 3 S5 6.8 |M5x0.8| 9 |24 |3 |62 —|33
SD32 12 |M8x1.25/28 [7.2]6 | 50] — | 9.5|D Type Head Arbor (©E042)
N SD40 12 |mM8x1.25|36 |72 |6 | 50— |95
AR =5 q SD50 16 |M10x1.5(46 |82 |8 | 50/ —| 1.0
I |SD63 16 |Mtox1.5/61 |82|8 | 50— 1.0
e — c
SETS51 6.8 |M5x0.8/14.8] 1.5 | 3.4 | — [T15] 3.5[HSK Tool Holder (OH016)
ar;‘; £ °| SETS61 8 | M6x1|20 |1.8|3.9 | — |T20| 5.0|MMTE Type Holder (©G019)
1 N : MMTI Type Boring Bar (©G028)
e d
* SLCS105 10 |M5x0.8]25 [63|4 | 9] —]70
e SLCS106 | 12 M6x1 (32 |6.2|4 | 90| — | 7.0|WP Type Holder (DCO17)
&
w
x e
:
SPS1 85 |M5x0.8/16 |4 | 4.5 | 70[T25] 5.0
€|
SRS5 6.7 |M5x0.8/16 |3.5] 3.9 | — [T20] 5.0
€
STS1 6.8 |M3x0.5] 7 |22 28| 90[T10] 2.5

Q

Q006



Geometry Order Number a Dm:)ensmni(mmll o A;gole [érlglee Iﬁfqnlﬁ Tool Holder
* TS16 2.5 |M1.6x035 3.2 (1.6 |1.8 |60 |T6 | 0.6|MICRO-DEX (©E016)
TS2 27 |M2x0.4| 46|14 [1.8 |60 |T6 | 0.6|Boring Unit (ON012) TAF Drill (©P241)
* TS2A 2.7 |M2x0.4| 4512 (1.8 |60|T6 | 0.6/|AQX (@M154)
TS2C 2.7 |[M2x0.4| 38|14 |18 |60|T6 | 0.6
“* TS2D 3.8 |M2x0.4| 5.3[1.9 (1.8 |82|T6 | 0.6|DIMPLE BAR (®E006)
TS21 2.7 |M2x0.4| 34|14 [1.8 |60 |T6 | 0.6|F Type Boring Bar (DE027)
* TS22 3.0 [M22x0.45| 5 1.2 |1.8 |60 |T6 | 0.6]S Type Boring Bar (©E028)
* TS25 3.3 |M25x045| 5.5|1.7 |2.4 |60 |T8 | 1.0|AQX (DM154) AJX (©M162) TAF Dril (©P241)
Y TS25D 4.4 |M25x045| 6.2 2.2 |2.4 |82 |T8 | 1.0|DIMPLE BAR (©E006)
* TS25H 3.6 [M25x045 5.5|2 |2.4 |60|T8 | 1.0|SRM2 (©M236)
TS202 2.7 |M2x0.4| 55|18 (1.8 |60|T6 | 0.6
TS253 3.3 |M25x045| 4.5[1.7 |2.4 |60 |T8 | 1.0|Milling Tools Series (©M001)
TS254 3.3 |M2.5x045| 7 17 |2.4 | 60|T8 | 1.0|SMALL TOOLS (©D001) PMF (©M256)
* TS255 3.5 |M25x045 7.5(1.6 |2.4 |60 |T8 | 1.0]|Profile Holder (©C030)
TS3 3.9 |[M3x0.5 6 |2 2.4 |60 |T8 | 1.0|TSMP (©M248) CBJP (OM250) TAF Drill (QP241)
Bl " _ ° TS3D 5.0 [M3x0.5| 6 2.3 |2.8 | 82|T10| 2.5|DIMPLE BAR (®E006)
o a * TS3SB 44 |M3x0.5/ 8 |2 |24 [80|T8 | 1.5|/AXD4000 (©M134)
c TS3SBS 4.4 |M3x0.5| 6.5(2.0 (2.4 [80|T8 | 1.5|/AXD4000 (©M134)
Y TS31D 4.8 |M3x0.5| 7.2|2.2 2.8 |[82|T10| 2.5|DIMPLE BAR (©E007)
* TS32 3.9 [M3x0.5| 7.5|2 |2.4 |60|T8 | 2.0|SRM2 (©M236)
* TS33 3.9 [M3x0.5| 6.7 |2 2.4 |60 |T8 | 1.5/AQX (@M154) AJX (©M162) PMC (@M254)
TS35 4.8 |[M35x06| 6.5|24 |2.8 |60|T10| 2.5
* TS35D 5.3 [M3.5x06(12 2.8 | 3.4 |60 |T15| 3.5|HSK Tool Holder (©H013)
* TS35R 5.7 |M35x06(10 |[2.1 |3.4 | — |T15]| 3.5|AHX440S (DM038) AHX475S (DM043)
o ...m | - TS351 4.8 |M35x06| 7.2|2.4 |2.8 |60 |T10] 2.5|AJKX (©W162) SRM2 (©M236) PMC (DM254)
L;i I TS352 4.8 |M35x06(10 |3 [2.8 |60 |T10| 2.5|VFX5 (@M220)
Py d TS4S 54 |M4x0.7| 7 24 3.4 |80 |T15] 3.5
e * TS4SL 5.4 |[M4x0.7| 8 |24 |3.4 |80|T15| 4.0|BXD4000 (©M150)
* TS4SB 5.8 [M4x0.7| 9 |27 |3.4 |80 |T15| 3.5(AXD7000 (@M142)
« * TS4SBL 5.8 |M4x0.7/10.5|2.7 | 3.4 | 80 |T15| 3.5|GY SERIES (©F001) AXD7000 (DM142)
+ TS4 5.4 |M4x0.7| 8 |26 |3.4 |60|T15| 3.5 8Ty Catidge (ON010) CEICFICGSP (M246) TSMP (N248)
B o n| TS4D 5.6 |M4x0.7| 7.7 |25 |3.4 |82 |T15| 3.5/ DIMPLE BAR (©E006)
L TS42 5.4 |M4x0.7| 6 |2.6 (3.4 |60|T15 3.5
e d| TS43 5.4 |M4x0.7|10 2.6 [3.4 |60 [T15| 3.5[AKX (w62 BRP (OM196) PMC (QM254) SRM2 (M236)
c TS44 5.4 |M4x0.7{12 |2.6 |3.4 |60|T15 3.5
TS406 54 |[M4x0.7|15.5|26 |3.4 |60 |T15 3.5
TS407 54 [M4x0.7| 9 |26 |3.4 |60|T15 3.5|AQX (@M154) AJX (©M162)
TS450 5.9 [M45x0.75/13 | 3.6 |3.9 |60 |T20| 5.0|VFX6 (©@M224)
TS5S 6.8 |M5x0.8| 9 29 |45 |80 |T25 7.5
* TS5SL 6.8 |M5x0.8/{12 |[2.9 |4.5 |80|T25 7.5
TS5 6.8 [M5x0.8/ 9 |3.2 |4.5 |60 |T25| 7.5|SPHolder (©C022) CEICFICGSP (©N246) TSMP (QN248)
TS5L 6.8 |M5x0.8/{15 |[2.9 |4.5 |80|T25 7.5
TS5R 6.9 [M5x0.8{12 3.5 (3.9 |60 |T20| 5.0|wJdx (@Mm172) ®
TS52 6.8 [M5x0.8 8 |3.2 |4.5 |60|T25 7.5|CESP/CFSPICGSP (©M246) ]
TS53 6.8 |M5x0.8|16 3.2 |45 |60|T25 7.5 g
TS54 6.8 [M5x0.8/12 |3.2 |4.5 |60 |T25/ 7.5|AJX (©M162) o
TS55 6.8 |M5x0.8/10.5| 3.2 |4.5 | 60 |T25| 7.5 6YSERES (QF001) AQX (M154) SPX (DM215) SRM2 (DM236) X
* TS6S 8.5 |[M6x1.0{13 4.4 |5.6 |60 |T30/10.0|AQX (DM154) SRM2 (DM244) ?
* TS6 8.5 |M6x1.0{16 4.4 |5.6 |60 |T30[10.0|SRM2 (@M244)

Qo007



u SPARE PARTS

Qo008

SPARE PARTS

SPARE PARTS

CLAMP SCREW
Geometry Order Number a Dm:)ensmni(mmL o Agglle %:2/: (T&rqrﬁ Tool Holder
TPS20 2.7 |M2x0.4| 35|13 |1.8 |60 | 6IP] 0.5/ARX (©M192)
TPS22 3.0 [M22x045| 4.7|1.6 [2.1 |60 | 7IP| 0.5/ARX (©M192)
TPS22S 3.0 [M2.2x045| 4.2(1.6 |2.1 | 60| 7IP| 0.5]ARX (©@M192)
TPS25 3.3 [M25x045| 5.5|1.7 [2.1 [60 | 7IP| 1.0]APX3000 (DM096) MVS (©P022)
TPS25-1 3.3 |M25x045| 6.5|1.7 |2.1 | 60| 7IP| 1.0]APX3000 (@M096)
TPS27F1 3.7 [M27x0.35| 6.5|1.8 [2.1 |60 | 7IP| 1.0]VPX200 (©M110)
TPS27F2 3.7 |M27x0.35/ 8.0(1.8 |2.1 |60 7IP| 1.0|VvPX200 (@M110)
TPS3 3.9 |M3x0.5| 6.7 (1.4 |2.82|60 |10IP| 1.0|MVX (©P231)
TPS35 5.3 |M3.5%0.6/11.5|2.8 | 3.4 |60 [15IP] 3.5|ASX445 (©M030) ASX400 (@MO080) PMR (@M258)
TPS351 4.8 [M35x0.6| 7.2(1.4 |2.82|60 [10IP| 2.5|MVX (@P231)
TPS351B 5.1 |M35x06| 7.2|1.4 |2.82( 60 [10IP] 2.5|ARP (©M186)
TPS4 5.3 |M4x0.7| 8 (2.6 |3.4 |60 |15IP| 3.5|APX4000 (©M102) ARP (©M186) MVX (©P232)
TPS40F1 5.3 |M4x0.5/10.5(2.8 |[3.4 |60 |15IP| 3.0|VPX300 (©M122)
TPS43 5.3 |M4x0.7|10 (2.6 |3.4 |60 |15IP| 4.0]APX4000 (©@M102) MVX (©P233)
TPS4R 6.4 |M4x0.7|/10.6 (2.9 |3.4 |60 [15IP| 3.5|WSX445 (©M018)
TPS54 6.8 |M5x0.8/12 [3.2 |4.5 |60 25IP] 7.5|MVX (©P234)
— TSR05008S | 3.5 |M5x0.8/ 8 | — |28 | — [T10] —
a </ | TSR06011S | 4 M6x1.0| 11 — [39 | — |T20| —
TSS04005 — |M4x0.7| 5 — |24 | — T8 | — |PMF (®M256)
a F== TSS04505S | — |M45x0.7| 5 — |35 | — |T10| 3.5|FMAX (@M066)
[Eaek TSS05006 — |M5x%0.8| 6 — 2.8 | — [T10| — |BC Type Cartridge (©N008)
e c TSS06010 - M6x1 |10 — | 3.9 | — [T20| — |SS Type Cartridge (@N010)
WCS503507H| 6.3 |[M5x0.5| 7 (3.3 [3.5 | — | — | 5.0|Asx445 (©M030) ASX400 (©M080) PMR (OM258)
WCS604010H| 7.8 |[M6x0.75(10 [4.1 [4.0 | — | — | 7.0|PMR (®M258)
WS1 8.5 |M5x0.8/19 |5 45 | — |T25| 7.5
WS254012T| 4 M2.5%0.45/11.5 (2.2 |2.4 | 80 [T8 | 2.0| TAW Drill (©P219)
WS254013T| 4 M2.5%0.45| 12.5 (2.2 |2.4 |80 T8 | 2.0
WS254014T| 4 M2.5x0.45(13.512.2 |2.4 |80|T8 | 2.0
WS254015T| 4 M2.5x0.45| 14.5 (2.2 |2.4 |80 T8 | 2.0
WS254016T| 4 M2.5%0.45| 15.5 (2.2 |2.4 |80 (T8 | 2.0
:‘l | ;_QI WS304517T| 4.5 |M3x0.5/16.5|3.4 [2.8 |60 [T10| 3.5
%r WS304518T| 4.5 |M3x0.5/17.5(3.4 |2.8 |60(T10| 3.5
— WS355520T| 5.5 |M3.5%0.6/19.5|3.9 [3.4 |60 [T15| 5.5
£ WS355521T| 5.5 |[M3.5x0.6/20.5|3.9 [3.4 |60 [T15 5.5
WS406023T| 6 M4x0.7|22.0 [4.4 |4.5 |60 |T25| 8.5
WS406024T| 6 M4x0.7|23.0 (4.4 |4.5 |60 |T25| 8.5
WS508026T| 8 M5x0.8|25.0 5.2 |5.1 |60 |T27|12.0
WS508027T| 8 M5x0.8/26.0 (5.2 |5.1 |60 |T27|12.0
WS203107TPS | 3.1 |[M2x0.25| 7.3|1.7 [ 1.8 | 60 | 6IP| 1.0] STAW Drill (©P218)
WS203108TPS| 3.1 |M2x0.25| 8.3|1.9 (1.8 |60 | 6IP| 1.0
"I WS253909TPS | 3.9 |M25x035| 9.5(24 |24 |60| 8IP 2.0
WS304912TPS| 4.9 |M3x0.35/12 |3.25|2.82| 60 [10IP| 2.5




SET BOLT

Dimensions (mm) Angle| Dri
Geometry Order Number a b c d e | o %rg/ee Iﬁ‘m#s Tool Holder
BOES101 15 |M10x1.5] 45 | 10 8 | 60| — |10.0{OCTACUT (@M180)
I i
[
*HSC08030H [ 13 |M8x1.25| 38 8 5 | — | — | 24|APX3000/4000 (©M096, M102)
HSC08040 | 13 |[M8x1.25| 48 | 8 | 6 | — | — | 24 X")f;::go(g‘"&g)
HSC08050 13  |M8x1.25| 58 8 6 [ — | — | 24| axp7000 ©M142)
*HSC10030H 16 |[M10x1.5| 40 | 10 6 [ — | — | 40|APX (©M102) AJX (©M162) WSX445 (OMO18)
e "[ HSC10035 16 [M10x15| 45 | 10 | 8 | — | — | 44|BXD (@M150)
T | HSC10045 | 16 |[M10x15| 55 | 10 | 8 | — | — | 44|VFX5/6 (©@M220)
c HSC10055 16 |M10x15| 65 10 8 | — | — | 44|AHX475S (©QM043) AHX640S (©MO046)
HSC12035 18 M12x1.75 47 | 12 | 10 | — | — | 80|wsx445 (©M018)
*HSC12035H [ 18 M12x1.75 47 | 12 | 10 | — | — | 80|APX3000/4000 (©M096, M102) AJX (OM162)
HSC12045 18 M12x1.750 57 | 12 | 10 | — | — | 80| wsx445 (©M018)
@ PR S8 M B — Qt HSC12070 18 M12x1.75 82 | 12 | 10 | — | — | 80
HSC16040 24 |M16x2| 56 | 16 | 14 | — | — [150
e -4 c *HSC16040H | 24 |M16x2| 56 | 16 | 14 | — | — [150(APX3000/4000 (©M096, M102) AJX (©M162)
HSC16080 24 |M16x2| 96 | 16 | 14 | — | — |150
* With coolant hole. HSC20040 30 [M20x25| 60 | 20 | 17 | — | — [320
HSC20090 30 |M20x25[110 | 20 | 17 | — | — 320
T HSCX12030H| 24 [M12x1.75 37 7 8 | — | — | 40|FMAX (©M067)
@ o B :E HSCX16035H| 30 |M16x2| 44 | 9 | 12 | — | — [100
g HSCX16045H( 30 |[M16x2| 54 9| 12 | —| — [100
& ’l < HSCX20035H| 36 |M20x2.5| 46 11 14 | — | — |180
HFF08043H 11 |M8x125| 43 5 5 [ 90| — |8.2|AXD4000 (©M134)
ﬁ BXD (@M150)
@
£
T MBA16033H| 40 [M16x2| 43 | 10 | 14 | — | — |150|AHX640 (For $100) (@M046)
! of [ -] |MBA20040H| 50 |M20x25| 54 | 14 | 17 | — | — |320| SRS K aee (oo
HEg" MBA24045H| 65 |M24x3| 59 | 14 | 17 | — | — |520| AxD4000 (©M134) AXD7000 (©M142)
Le| [ AJX (©M162) BXD (©M150)
G Dimensions (mm) Torque
eometry Order Number Tool Holder
a a' b c d e [(Nm)

HDS08030 |M8x0.75|M8x1.25| 30 | 13.5 | 11.5 | 4 | 8.2 |BRP (@M196)
HDS10031 |M10%x1.0(M10x1.5| 31 | 14 12 5 | 9.0 |OCTACUT (@M180) PMF (@M256)

Right-Hand

Right-Hand
Screw

Screw

[]

SPARE PARTS

Q009



SPARE PARTS

Qo010

SPARE PARTS

SPARE PARTS

SHIM
Dimensions (mm)
Geometry Order Number Tool Holder
a b c d e f
CS32 952 | 318 | 0.8 | 08 | 12 | 1.2
< ‘ d CSs42 1270 | 318 | 08 | 08 | 12 | 1.6
CS43 1270 | 476 | 08 | 0.8 | 12 | 1.6
@ © CS62 19.05 | 318 | 1.2 | 12 | 16 | 1.6
\ * PS31 828 | 238 | 02 | 02 | 06 | 06
e a f b | [* PS42 1146 | 318 | 02 | 0.2 | 0.6 | 1.0 [BC Type Cartridge (ON008)
" T % PS62 1720 | 318 | 0.3 | 0.3 | 0.7 | 0.7
CT22 635 | 318 | 04 | 08 | 12 —
¢ CT32 952 | 318 | 04 | 08 | 12 -
CT33 952 | 476 | 04 | 08 | 12 -
CT42 1270 | 318 | 04 | 08 | 1.2 -
] \ T * PT21 511 | 238 | 02 | 02 | 06 -
d/ ‘ Ne * PT32 8.28 3.18 0.2 0.2 0.6 — | F Type Boring Bar (@E026)
a b bl |% PT42 10.85 | 318 | 0.3 | 0.3 | 0.7 -
BPT322 7.8 3.18 - - - -
_ DCSVN32| 952 | 318 | 0.8 | 1.2 - — | DOUBLE CLAMP Holder (©C018)
DOUBLE CLAMP DIMPLE BAR (©E015)
,E,
b
ESS42 1270 | 318 | 08 | 08 | 12 | 1.6
%
¢ EST32 952 | 318 | 04 | 08 | 12 -
) EST43 12.70 | 476 | 04 | 0.8 | 1.2 -
() L
ANSZN .
d/ a \e _9_
LLSCN3T3| 952 | 397 | 04 | 04 | 0.8 | 0.8 [DOUBLECLAMP Holder (©C008)
d P _ LLSCN33 | 952 | 476 | 0.4 | 04 | 08 | 0.8 | oA D ) O
LLSCN42 | 12,70 | 3.18 | 0.8 | 0.8 | 1.2 | 1.2 [HSKTool Holder (©H001)
. }:E ] LLSCNS3 | 1587 | 476 | 12 | 12 | 16 | 1.6 |fL1me Hoder O noos)
[ ) LLSCN63 | 19.05 | 476 | 1.2 | 1.2 | 16 | 1.6 [P TypeBoringBar (DE035)
4 Te * LLSCP42 | 1270 | 318 | 0.8 | 0.8 | 12 | 1.2 [DOUBLE CLAMP DIMPLE BAR (©E013)
a |b_| b * LLSCP63 | 19.05 4.76 1.2 1.2 1.6 1.6 |HSK Tool Holder (©H001)
P Type Boring Bar (@E035)
i LLSDN32| 952 | 3.18 | 0.8 1.2 — — | DOUBLE CLAMP Holder (©C008)
LLSDN42 | 1270 | 348 | 0.8 | 12 | — | — |DO LR CLAME DIMPLEBAR (OE01)
: 1 1 LLSDN43 | 12.70 | 476 | 0.8 | 12 — — ['f';y{;omgrer(&%ggg;)
LLSDN53 15.87 4.76 1.2 1.6 —_ —_ P Type Boring Bar (©E035)
ad b b * LLSDP42 | 12.70 3.18 0.8 1.2 - — | DOUBLE CLAMP DIMPLE BAR (©E013)
LLSRN103 8.3 3.18 — - - — | HSK Tool Holder (©H001)
() LLSRN123 9.8 3.18 - - - — | LL Type Holder (©C024)
: B:E LLSRN164 | 13.6 476 | — - - -
L/ LLSRN204 | 17.3 4.76 - — - -
a b LLSRN256 | 22.0 6.35 | — = = =
o LLSRN326 | 28.0 6.35 | — — — -
LLSSN32| 952 | 318 | 08 | 0.8 | 1.2 | 1.2 [LLTypeHolder (©C012)
© ‘ d . LLSSN33| 952 | 476 | 08 | 0.8 | 1.2 | 1.2 [LLType Cartridge (©ONOO6)
N LLSSN42 | 1270 | 318 | 08 | 08 | 12 | 1.6 |P TypeBoringBar (©E035)
’\ / ° B:(( LLSSN53 | 1587 | 476 | 1.2 | 12 | 16 | 16
| o~ LLSSN63 | 19.05 | 476 | 1.2 | 12 | 16 | 20
fla |f b| |b LLSSN84 | 25.40 | 635 | 16 | 16 | 24 | 24
* LLSSP42 | 1270 | 318 | 0.8 | 08 | 12 | 1.6




Dimensions (mm)

Geometry Order Number Tool Holder
a b c d e f
c * LLSTE32 7.6 3.18 | 0.4 0.4 0.4 — | DOUBLE CLAMP Holder (©C016)
LLSTN32 9.52 3.18 | 0.4 0.8 1.2 — | DOUBLE CLAMP DIMPLE BAR (©E014)
LLSTN33 9.52 476 | 04 0.8 1.2 — | Boring Unit (©N012)
/ \ 1 1 LLSTN42 | 12.70 3.18 | 0.4 0.8 1.2 — | D Type Boring Head (©@E040)
A \ LLSTN53 | 15.87 476 | 0.8 1.2 | 16 | — [LLType Holder (©C008)
d a € b b * LLSTP32 9.52 3.18 | 0.4 0.8 1.2 — |LL Type Cartridge (@N006)
* LLSTP42 | 12.70 3.18 | 0.4 0.8 1.2 — | P Type Boring Bar (©E035)
c * | LLSWN32 9.52 318 | 0.4 0.8 12 — | DOUBLE CLAMP Holder (©C021)
LLSWN3T3| 9.52 39704 0.8 1.2 — | DOUBLE CLAMP DIMPLE BAR (©E015)
] ] LLSWN42 12.70 3.18| 04 0.8 1.2 — | LL Type Holder (©C008)
* LLSWP32 9.52 3.18 | 0.4 0.8 1.2 -
d a © o] 12 [xLLSWP42 | 12.70 31804 | 08 | 12 | —
d MHS532R/L| 9.4 15.7 | 45 0.8 0.8 -
MHS533R/L| 9.4 15.7 4.5 1.2 1.2 -
* ©
e\,&ﬁ MHS534RIL| 9.4 157 |45 | 16 | 1.6 | —
55° MHS542R/L| 9.4 157 |65 | 08 | 08 | —
6 MHS543R/L| 9.4 15.7 | 6.5 1.2 1.2 -
MHS544R/L| 9.4 15.7 6.5 1.6 1.6 -
N ,C MLCP42 12.58 3.18 | 1.2 1.2 1.2 1.2 | P Type Boring Bar (©E036)
¢ MLDP42 | 12.56 318 1.2 1.2 — — |P Type Boring Bar (©E036)
ad ﬁ
c /‘\ d MLSP42 12.63 3.18 | 1.2 1.2 1.2 1.2 |P Type Boring Bar (@E035)
°_a Jf *i
Vad _ MLTP32 9.50 3.18 | 1.2 1.2 1.2 — | P Type Boring Bar (©E035)
A
d\/ &J \/e 1
a b
d. ¢ MSCN63 | 18.8 476 | 1.6 1.6 1.6 1.6 |DOUBLE CLAMP Holder
N (For Heavy Cutting) (©C014)
(A I
\/ ]
fr a Ne | b
c ,d MSSN63 18.8 476 | 1.6 1.6 1.6 1.6 |DOUBLE CLAMP Holder
N (For Heavy Cutting) (©C014)
) I
N i
e a Nf — b
% CT32T1 9.525 | 15.03 | 3.18 — — —
*PT32T1R 8.28 13.34 | 3.18 — — —
9 - *PT32T2R 8.28 13.19 | 3.18 — — —
* PT42TR 10.85 17.20 | 3.18 — — -
a

SPARE PARTS

Qo011



u SPARE PARTS

Qo012

SPARE PARTS

SPARE PARTS

SHIM
Dimensions (mm)
Geometry Order Number a b c d o f Tool Holder
35° e PV321 9.52 3.18 0.4 0.4 - -
PV322 9.52 3.18 0.8 0.8 = — | MP Type Holder (©C019)
1 PV323 9.52 3.18 1.2 1.2 - -
da
_c SPSVN32 8.06 | 3.18 | 0.3 0.3 — —  |HSK Tool Holder (©H001)
SP Type Holder (©C028)
d7,
. STASX400N [ 11.00 3.00 0.4 0.4 0.4 0.4 |ASX400 (©M080)
@)l
N
e a f
@ STASX445N | 10.76 | 3.00 — — — — | ASX445 (©M030)
a
¢ ‘ d STBS500N | 12.7 3.18 0.8 0.8 0.8 0.8
el _a
< ¢ WPSTN33 9.3 4.76 0.8 0.4 1.2 — | WP Type Holder (@C017)
@ WPSTN43 | 12.50 4.76 0.8 0.4 1.2 =
d/ a Ne
¢ * WPSWC43 | 12.50 4.76 0.4 0.8 1.2 —
WPSWN43 | 12.50 4.76 0.4 0.8 1.2 -




SHIM PIN AND CLAMP LEVER

Dimensions (mm)

Geometry Order Number Tool Holder
a b c d e
BCP141 3.0 1.4 5.6 — - SP Type Holder (©C028)
BCP201 4.3 2 7.4 — - F Type Boring Bar (©E026)
BCP202 4.3 2 6.4 — — HSK Tool Holder (©H013)
BCP251 4.8 2.5 74 - — BC Type Cartridge (@N008)
BCP252 4.8 2.5 6.4 - -
BCP301 5.3 3 7.4 - —
BCP401 6.3 4 7.4 — —
CCP33 6.5 3.66 | M5x0.8 | 18.5 3 WP Holder (©C017)
© n[ - = o CCP34 75 50 |M6x1.0| 185 3
—] CCP44 7.5 5.0 |M5x0.8| 14.2 3
e
d
LLCL12S 2.1 9.3 5.6 - — LL Type Holder (©C008)
LLCL13 3.6 10 12.5 - - LL Type Cartridge (©N006)
a LLCL13S 3.6 10 7.8 - - D Type Boring Head (@E040)
N LLCL14 47 | 134 | 132 | - — | HsK Tool Holder ©H001)
LLCL14S 4.7 13.6 12.2 - - KSMG (©M252)
! LLCL15 6.0 19 17 — - Boring Unit (©N012)
y © LLCL16 7.5 20.8 21 — - P Type Boring Bar (©E035)
5 LLCL18 8.6 25.4 25.2 - —
b LLCL23 3.6 12.0 11.5 — —
LLCL23S 3.6 11.6 9.5 - -
LLCL24 4.7 16.2 14.8 - -
LLCL25 6.0 17.1 17 — —
- ) LLCL110 3.0 10.7 11.6 - —
LLCL112 3.5 13 13.5 - —
! R LLCL116 4.5 18.5 18 - —
7 LLCL120 5.6 20.3 19 - —
il LLCL125 6 24 24 — —
b LLCL132 8 30 27 — —
LLP13 5.55 4.85 5.3 - - LL Type Holder (©C008)
LLP14 7.25 6.55 5.8 — - DOUBLE CLAMP Holder (©C008)
LLP15 8.8 8.05 8.6 - - DOUBLE CLAMP DIMPLE BAR (©E013)
LLP16 10.85 9.85 111 — - P Type Boring Bar (©E035)
LLP18 15.35 13.05 12.0 — - D Type Boring Head (©E040)
© 2 @ LLP23 5155 4.85 6.8 — = HSK Tool Holder (©HO001)
LLP24 7.25 6.55 9.1 - - KSMG (©M252)
c Boring Unit (©N006)
LL Type Cartridge (©N006)
MP6 11.9 7.8 M10x1 22.1 15 |DOUBLE CLAMP Holder

(For Heavy Cutting) (©C014)

n SPARE PARTS

Qo013



u SPARE PARTS

Q014

SPARE PARTS

SPARE PARTS

LOCK PIN
Dimensions (mm)
Geometry Order Number Tool Holder
a b c d e f
P11S 6 37 | 4 17 11.1 — | D Type Boring Head (©E042)
L L m P21s 7.5 49 | 45 | 172 | 115 | — |MPType Holder (©C018)
© Qo T T 1 - o
e
d
f P221US 4 18 2.1 3.5 3.3 7.7
— P321US 515 18 3.64 5.0 8.3 7.5
° UL _; P322US 5.5 21 3.64 5.0 3.3 | 10.5
le.| P323US 515 24 3.64 5.0 3.3 | 13.5
5 P332US | 55 |21 |364| 50| 49| 89
f P323WS 5.0 24 3.64 5.0 3.3 | 129
P333WS 5.75 24 3.64 5.0 49 | 11.3
® °]: — ; P334WS 5.0 30 3.64 5.0 49 | 17.3
e P433W 7.75 24 5.03 7.0 49 | 10.8
b P434W 7.75 30 5.03 7.0 49 | 16.8
CLAMP BRIDGE
Dimensions (mm)
Geometry Order Number Tool Holder
a b c d e f
a d_ AMS3 7 12 3 3.3 — — | Profile Holder (©C030)
= AMS4 9 | 135 | 3 38| — | — [Ax(©@wie)
a AMS5 10 15 3.5 5 - -
[
CA142 8 15 4 7 - -
CA150 9 16 4.5 7 = -
a d CA151 10 17 5 7 - -
CA152 10 19 5 7 - -
CA153 10 24 5 7 - -
a CA161 13 20 6 8 - -
CA162 13 24 6 8 - -
c CA163 13 27 6 8 - -
CA181 16 30 8 10 - -
CA183 16 37 8 10 - -
a CCK13 15 18.5 6 9 — — | WP Type Holder (©C017)
CCK14 19 22 8 9.5 = -
Q2
<]
CCTC1 13 25 7 10.2 - -
Q2
a
CK231 M6x1 8 4 75 | 45 9.5
CK232 M6x1 8 4.5 8 45 | 115
CK341 M8x1 11 55 | 135 | 6 13.5
f CK342 M8x1 | 11 6 |14 6 16.5




CLAMP BRIDGE

Dimensions (mm)

Geometry Order Number Tool Holder
a b c d f
DOUBLE CLAMP Hold
a d 2, CKW6 10.9 225 | 9.2 16.8 M8x1 (For Hozwy Catting) Czo%fom)
@
DCK2211 11 22 6.57 | 111 — | DOUBLE CLAMP Holder (©C008)
DCK2613 13 265 | 7.35 | 12.9 _ DOUBLE CLAMP DIMPLE BAR (©E013)
DCK3113 13 31 9 145 _ | HSK Tool Holder (@H001)
KGC1 12.0 15.0 |[M7x0.75| — — | UG Type Holder (©F114)
LK1 8 143 | 45 5.9 -
MHK5NR/L | 15.5 235 | 8.1 121 -
MTK1R/L 13 175 | 5 12 — | HSK Tool Holder (@H001)
MG Type Holder (©F116)
MT Type Holder (©G024)
MT1 Type Holder (©G024)
MTK2R/L 18 28 7 14 -
SETK51 6.8 145 | 2.9 8 — | MMTE Type Holder (@G019)
SETK61 89 | 181 [41 | 86 — | MMTI Type Holder (©G029)
HSK Tool Holder (@H001)
SRK1R 9.4 21 5.5 7.5 —
c UCR 12 24 8 7 —

1‘1[1 iy

SPARE PARTS

Qo015




SPARE PARTS

Q016

SPARE PARTS

SPARE PARTS

BREAKER PIECE
Dimensions (mm)
Geometry Order Number - - - Tool Holder
a b @ Inscribed Circle | Breaker Width
CBS3 9.4 80| 15 9.525 1.5
CBS4 12.6 9.2 | 25 12.70 3.5
a CBS4N 12.6 10.2 | 2.5 12.70 2.5
CBS4F 12.6 1.2 | 25 12.70 1.5
a CBS6 18.9 146 | 2.5 19.05 4.5
CBS6N 18.9 16.6 | 2.5 19.05 2.5
CBS6F 18.9 17.6 | 2.5 19.05 1.5
CBS3D 8.0 = 1.5 9.525 1.5
® CBS4D 10.2 - 2.5 12.70 2.5
CBS6D 15.6 = 2.5 19.05 5]
a
CBT2 533 14| 15 6.35 15 F Type Boring Bar (©E026)
| BTN | se7| 14| 15 | 635 | 10 [*Ferpesiie nsens e tremer
b CBT3 720 14| 25 9.525 35 figures in the list.
CBT3N 787 14| 25 9.525 2.5
° CBT3F 853 | 14| 25 9.525 1.5
CBT4 9.73| 14| 25 12.70 4.5
CBT4N 11.07| 14| 25 12.70 2.5
CBT4F 11.73| 14| 25 12.70 1.5
Geometry Order Number I:imensi;ns (mmc) Thread Pitch (mm) Tool Holder
CBT3106 1.5 | 106 | 2.0 2.5-3.0
CBT3113 115 | 11.3 | 2.0 1.5—2.0
B CBT3120 | 115 [ 12 | 20 0.75—1.25
CBT4108 13.3 | 10.8 | 2.0 3.5—4.0
CBT4128 13.3 | 128 | 2.0 45-5.0




ANTI SEIZE LUBRICANT

ANTI SEIZE LUBRICANT

Shape Order Number | Stock Vol(g)me
MK1K [ ] 20
MK1KS [ J 3

@ : Inventory maintained in Japan.

n SPARE PARTS

Qo017



SPARE PARTS

Qo018

SPARE PARTS

REPLACEMENT PARTS FOR OLD TYPE TOOLS
(TURNING HOLDERS)

EG TYPE HOLDER

0ld Type Tool Number f

Type Size Clamp Screw Wrench
2020K03 EGS06019 HKY30R
2525M3 EGS06019 HKY30R
2525M4 EGS08024 HKY40R

EGHR

2525M5 EGS08024 HKY40R
2525M7 EGS08024 HKY40R
2525M8 EGS08024 HKY40R

ET TYPE HOLDER

S
Old Type Tool Number I'ﬂlm @ ~ > @ %
Type Size Clamp Bridge | Clamp Screw | Shim Screw Shim Breaker Piece Wrench
PT32T1R CBT3106
ETHR 2525M16 CK341 LS2 CFM02008 PT32T2R CBT3113 HKY40R
CBT3120
LL TYPE HOLDER
<
Old Type Tool Number @ & /'/}&S f
Type Size Shim Shim Pin Clamp Lever Clamp Screw Wrench
1616H09 LLSCN3T3 LLP13 LLCL13 LLCS106 HKY25R
2020K09 LLSCN3T3 LLP13 LLCL13 LLCS106 HKY25R
2525M09 LLSCN3T3 LLP13 LLCL13 LLCS106 HKY25R
igt:zt 2020K12 LLSCN42 LLP14 LLCL14 LLCS108 HKY30R
PCBNRI/L 2525M12 LLSCN42 LLP14 LLCL14 LLCS108 HKY30R
2525M16 LLSCN53 LLP15 LLCL25 LLCS508 HKY30R
3225P16 LLSCN53 LLP15 LLCL25 LLCS508 HKY30R
4040R19 LLSCNG63 LLP16 LLCL16 LLCS310 HKY40R
1010E11 - - LLCL12S LLCS105 HKY20F
1212F11 = - LLCL12S LLCS105 HKY20F
PTANR/L 1616H16 LLSTN32 LLP13 LLCL13 LLCS106 HKY25R
PTBNR/L 2020K16 LLSTN32 LLP13 LLCL13 LLCS106 HKY25R
PTTNR/L 2525M16 LLSTN32 LLP13 LLCL13 LLCS206 HKY25R
PTGNR/L 2525M22 LLSTN42 LLP14 LLCL14 LLCS108 HKY30R
PTFNR/L 3225P22 LLSTN42 LLP14 LLCL14 LLCS108 HKY30R
3232P22 LLSTN42 LLP14 LLCL14 LLCS108 HKY30R
4040R27 LLSTN53 LLP15 LLCL25 LLCS508 HKY30R
3225P12 LLSSN42 LLP14 LLCL14 LLCS108 HKY30R
2525M15 LLSSN53 LLP15 LLCL25 LLCS508 HKY30R
igg:gﬂ: 3232P15 LLSSN53 LLP15 LLCL25 LLCS508 HKY30R
PSKNRIL 3232P19 LLSSN63 LLP16 LLCL16 LLCS310 HKY40R
4040R19 LLSSN63 LLP16 LLCL16 LLCS310 HKY40R
5050T25 LLSSN84 LLP18 LLCL18 LLCS112 HKY50R
2020K10 LLSRN103 LLP13 LLCL110 LLCS205 HKY20R
2020K12 LLSRN123 LLP13 LLCL112 LLCS106 HKY25R
PRGCRI/L 3225P12 LLSRN123 LLP13 LLCL112 LLCS106 HKY25R
PRDCN 3225P16 LLSRN164 LLP24 LLCL116 LLCS306 HKY25R
4040R25 LLSRN256 LLP16 LLCL125 LLCS410 HKY40R
5050T32 LLSRN326 LLP18 LLCL132 LLCS112 HKY50R




MC TYPE HOLDER

©
0ld Type Tool Numb A ‘ > @ ﬁ
ype Tool Number ﬁ !ﬂ”‘ &x\\/‘

Type Size Shim Shim Pin | Clamp Bridge | Clamp Screw |Breaker Piece Wrench Spring
CTANRIL 1616 CT22 BCP201 CK231 LS1 CBT2:: HKY30R -
CTGNRIL 2020 CT32 BCP301 CK341 LS2 CBT3: HKY40R =

2525 CT32 BCP301 CK341 LS3 CBT3: HKY40R -
CSTNRIL 1616 CS32 BCP251 CK232 LS1 CBS3: HKY30R -
CSSNRI/L 2020 CS42 BCP301 CK341 LS2 CBS4:: HKY40R -
2525M43 CS42 BCP301 CK341 LS3 CBS4:: HKY40R =
CTAPR/L 2020 PT32 BCP201 CK341 LS2 CBT3: HKY40R -
ggggsﬁz 1616 PS31 BCP201 CK232 LS1 CBS3: HKY30R -
CSKPRI/L 2020 PS42 BCP251 CK342 LS2 CBS4:: HKY40R -
CTCPRIL 2020K16 BPT322 BCP201 CCTC1 HSC06020 CBT3: HKY50R MES3
2525M16 BPT322 BCP201 CCTC1 HSC06020 CBT3.: HKY50R MES3
MG TYPE HOLDER
Old Type Tool Number § § f
Type Size Clamp Bridge Clamp Screw Spring Wrench
2020K3333 MTK1L/R HBH06020 MES3 HKY40R
2020K4447 MTK1L/R HBH06020 MES3 HKY40R

MGHR/L 3232P5660 MTK2L/R MGS6 MES3 HKY50R

3232P5670 MTK2L/R MGS6 MES3 HKY50R

3232P5680 MTK2L/R MGS6 MES3 HKY50R

MG2 TYPE HOLDER

Old Type Tool Number § § f

Type Size Clamp Bridge Clamp Screw Spring Wrench
2525M4315 MTK1R/L HBH06020 MES3 HKY40R
MG2R/L 2525M4323 MTK1R/L HBH06020 MES3 HKY40R
2525M4333 MTK1R/L HBH06020 MES3 HKY40R

n SPARE PARTS

Qo019



u SPARE PARTS

Q020

SPARE PARTS

REPLACEMENT PARTS FOR OLD TYPE TOOLS
(TURNING HOLDERS)

MH TYPE HOLDER

| P
Old Type Tool Number / § . & f
Type Size Shim Shim Pin Clamp Bridge Clamp Screw Stop Ring Wrench
MHS532R/L
KKCR/L 445 MHS533R/L SFC03010 MHK5NR/L MHT1 CE8 HKY40R
MHS534R/L
ML TYPE HOLDER
0
0ld Type Tool Number @ ’ j
Type Size Lock Pin Shim Stop Ring Spanner
1212 P221US - ER2 KY25
ETANR/L 1616H32 P322US = ER3 KY40
ETENN 1616H33 P332US - ER3 KY40
ETFNR/L 2020K32W P323WS EST32 ER3 KY40
ETGNR/L 2020K33W P333WS EST32 ER3 KY40
ETXNRIL | 2525M33W P334WS EST32 ER3 KY40
2525M43W P434W EST43 ER4 KY40
ESBNR/L 1212 P321US - ER3 KY40
Eggngt 1616H32 P322US - ER3 KY40
ESKNR/L 2020w P433W ESS42 ER4 KY40
ESSNR/L 2525W P434W ESS42 ER4 KY40
MP TYPE HOLDER
\Qﬁ D
0ld Type Tool Number @ %
\/
Type Size Shim Lock Pin Lock Screw Stop Ring Wrench
PVVNN
PVPNR/L 3225P16 PV32(: P11S HSP05008C EO3 HKY25R
MT2 TYPE HOLDER
Old Type Tool Number a § § f
Type Size Clamp Bridge Clamp Screw Spring Wrench
MT2R/L 2525M4 MTK1L/R HBH06020 MES3 HKY40R




SET TYPE HOLDER

R
g ) ﬁ LF
$ y
Old Type Tool Number 4| @ @ § b > /@
Type Size Clamp Bridge | Clamp Screw Stop Ring Shim Pin Shim Wrench
1616H16 SETK51 SETS51 CR4 HFC03008 CT32T1 RYRe
SETHR 2020K16 SETK51 SETS51 CR4 HFC03008 CT32T1 IEATS =N
2525M16 SETK51 SETS51 CR4 HFC03008 CT32T1 IR
SL TYPE HOLDER
Old Type Tool Number & f
g N &
Type Size Shim Lock Pin Nut Clamp Wedge | Clamp Screw Wrench
HKY25R
33K16S SLSTN33 SLP13 SLN13 SLCW13 SLCS105 HKY40R
HKY25R
ETJINRI/L 44M16S SLSTN33 SLP13 SLN13 SLCW13 SLCS105 HKY40R
ETQNRIL 44m22S SLSTN43 SLP14 SLN14 stcw14 | sicstoe | HKY3OR
HKY30R
54P22S SLSTN43 SLP14 SLN14 SLCW14 SLCS106 HKYA0R
ETNNRIL 64M22S SLSTN43 SLP14 SLN14 stcw14 | sicstoe | HKY3OR
HKY30R
85M22S SLSTN43 SLP14 SLN14 SLCW14 SLCS106 HKY40R
SP TYPE HOLDER
Old Type Tool Number § ﬁ
Type Size Clamp Screw Wrench Shim Shim Pin
0808D07 TS25 TKYO8F - -
gg:gzt 1010E07 TS25 TKYO8F - -
SDXCRIL 1212F07 TS25 TKYO8F - -
1616H11 TS43 TKY15F - -
0808D11 TS25 TKYO8F - -
gag';’ L 1010E11 TS25 TKYOSF - -
SVPCRIL 1212F16 TS43 TKY15F - -
3225P16 TS44 TKY15R SPSVN32 BCP141
SSBCRI/L 1616H09 TS43 TKY15F - -
0808D06 TS25 TKYOSF - -
SRGCRI/L 1010E06 TS25 TKYO8F - -
SRXCR/L 1212F06 TS25 TKYO08F - -
SRDCN 1010E08 TS3 TKYO8F - -
1212F08 TS3 TKYO8F - -
SR TYPE HOLDER
S
Old Type Tool Number § /QJ
Type Size Clamp Screw Wrench
SRSGRI/L 2525M20 TS5 TKY25F
SRSGN 3225P20 TS5 TKY25F

n SPARE PARTS

Q021



u SPARE PARTS

Q022

SPARE PARTS

REPLACEMENT PARTS FOR OLD TYPE TOOLS
(TURNING HOLDERS)

WP TYPE HOLDER (OLD TYPE PRODUCTS)

3N\
0ld Type Tool Number ‘ (| @ @ f
” & o)) & | ©
Type Size Shim Shim Pin | Clamp Bridge | Clamp Screw |Side Lock Plate| Lock Screw |  Spring Wrench
HKY30R
MTINRIL 2020K16 SLSTN33| CCP13 | CCK13 |SLCS105| CPT13 | wps1 | MEs2 | HKY3OR
MTENN 2525M16  [SLSTN33| CCP13 | CCK13 |SLCs105| CPT13 | wpst | MEs2 | ARYZOR
MTQNRIL 2525M22 SLSTN43| CCP14 | CCK14 |SLCS106| CPT14 | wWps1 | MEs3 | HKY2OR
MTNNRIL 5032M22  [SLSTN43| CCP14 | CCK14 |SLCS106| CPT14 | wpst | MEs3 | HKY30R
2020K08
MWLNR/L 2525M08  |WPSWN43| CCP34 | CCK13 |SLCS105| CPT24 - MES2 :gigg
3225P08
WP TYPE HOLDER
/o 3N\
Old Type Tool Number \& <) - f
? N\ & €l 6
Type Size Shim Shim Pin |Clamp Bridge | Clamp Screw | Side Lock Plate| Lock Screw |  Spring Wrench
2020K16N  [WPSTN33| CCP33 | CCK13 |SLCS105| CPT13 - mes2 | HKY2SR
MTENN HKY25R
MTQNRIL 2525M16N  |WPSTN33| CCP33 | CCK13 |SLCS105| CPT13 - mes2 | HKY2oR
2525M22N  |WPSTN43| CCP34 | CCK14 |SLCS106| CPT14 | — mes3 | HKY2OR
MTNNRI/L 5032M22N  |WPSTN43| CCP34 | CCK14 |SLCS106| CPT14 - MES3 | HKY30IL
AL TYPE HOLDER
R 9
& LF
Old Type Tool Number A\ @ )\\- ’6/
& & Va
Type Size Shim Shim Pin Clamp Lever Clamp Screw Wrench
PTGERI/L 2020K16 LLSTE32 LLP13 LLCL131 LLCS106 HKY25R
PTFERIL 2525M16 LLSTE32 LLP13 LLCL131 LLCS106 HKY25R
SVVDN 1616H16 - — - FC400890T TKY10F
SVPDRIL 2020K16 - - - FC400890T TKY10F
2525M16 - - - FC400890T TKY10F




REPLACEMENT PARTS FOR OLD TYPE TOOLS
(GROOVING/CUTTING OFF)

DG TYPE HOLDER

AR NN
Old Type Tool Number &\Q\‘

Clamp Bridge Locator Screw Wrench Clamp Screw Spring
DGHR/L 1616K2G DGK2R/L - HKY40R DGS51 MES2
DGHR/L 1616K3 DGK3R/L - HKY40R DGS51 MES2
DGHR/L 1616K3G DGK3RIL - HKY40R DGS51 MES2
DGHR/L 1616KF3 DGK3R/L - HKY40R DGS51 MES2
DGHRI/L 2020K - HSC04014 ARY3OR DGS51 MES2
DGHRI/L 2020KFS - HSC04014 IS DGS51 MES2
DGHRI/L 2020KL - HSC04014 ARY3OR DGS51 MES2
DGHRI/L 2020KLS - HSC04014 IS DGS51 MES2
DGHRI/L 2020KS - HSC04014 HRYSOR DGS51 MES2
DGHR/L 2525M - HSC05012 HKY40R DGS51 MES2
DGHR/L 2525MC - HSC05012 HKY40R DGS51 MES2
DGHR/L 2525MCS - HSC05010 HKY40R DGS51 MES2
DGHR/L 2525MF - HSC05012 HKY40R DGS51 MES2
DGHRI/L 2525MFS - HSC05012 HKY40R DGS51 MES2
DGHRI/L 2525ML - HSC05012 HKY40R DGS51 MES2
DGHR/L 2525MLS - HSC05012 HKY40R DGS51 MES2
DGHRI/L 2525MS — HSC05012 HKY40R DGS51 MES2

HSK-T TOOLS (DG)

Q
Old Type Tool Number &
Locator Screw Clamp Screw Spring Wrench
H63TH-DGHR/LS HSC05012 DGS51 MES2 HKY40R
H63TH-DGHR/L HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-H4 HSC05010 DGS51 MES2 HKY40R
H63TH-DGHN-H5 HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-H6 HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-L4 HSC05010 DGS51 MES2 HKY40R
H63TH-DGHN-L5 HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-L6 HSC05012 DGS51 MES2 HKY40R
UG TYPE HOLDER
Old Type Tool Number ﬁ
Wrench
DGHN262 UGS1
DGHN263 UGS1 ®
DGHN264 UGS1 ]
DGHN265 UGS1 g
DGHN322 UGS1 o
DGHN323 UGS1 ;
DGHN324 UGS1
DGHN325 UGS1 n
TOOL BLOCK FOR UG HOLDER
Block Shank
©
Old Type Tool Numb ‘ O f /
ype Tool Number !.mm\‘ \\\g
Clamp Bridge Clamp Screw Wrench Set Bolt Wrench
KGBN26-20 KGC1 LST15T TKY25R HSC08016 HKYB0R
KGBN26-25 KGCH1 LST15T TKY25R HSC08016 HKY60R
KGBN32-20 KGC1 LST15T TKY25R HSC08016 HKY60R
KGBN32-25 KGC1 LST15T TKY25R HSC08016 HKY60R

Qo023



u SPARE PARTS

Q024

SPARE PARTS

REPLACEMENT PARTS FOR OLD TYPE TOOLS
(BORING BARS)

COBRA (STEEL SHANK)
N
Old Type Tool Number @‘% VA &
Clamp Screw Wrench
S08HSTFPRO09 TS253 TKYO8F
S10KSTFPRO09 TS25 TKYO08F
S¢ “STFPR11 TS3 TKYO8F
St “STFPR16 TS4 TKY15F
S¢ CLPR/L08 TS3 TKYO8F
S¢ CLPR/L09 TS4 TKY15F
S¢ “SWLPR/L04 TS25 TKYO8F
S¢ 2SWLPR/L06 TS4 TKY15F
COBRA (CARBIDE SHANK)
Q)
0ld Type Tool Number §‘§ J &
Clamp Screw Wrench
E08KSTFPRO09 TS253 TKYO08F
E10MSTFPRO09 TS25 TKYO8F
E TS3 TKYO08F
TS3 TKYO08F
TS4 TKY15F
D TYPE (FOR BORING)
< @ ¢
Old Type Tool Number @ & /'/}‘& \%) Q ﬁ
Type Size Shim Shim Pin |Clamp Lever| Clamp Screw | Clamp Set | Breaker Piece | Stop Ring Wrench
132R/L LLSSN42 LLP14 LLCL14 |LLCS108 - - - HKY30R
140R/L LLSSN42 LLP14 LLCL14 |LLCS108 - - - HKY30R
DPSK 150R/L LLSSN63 LLP16 LLCL16 |LLCS110 - - - HKY40R
163R/L LLSSN63 LLP16 LLCL16 |LLCS110 - - - HKY40R
DPTF 150R/L LLSTN42 LLP14 LLCL14 |LLCS108 - - - HKY30R
163R/L LLSTN42 LLP14 LLCL14 |LLCS108 - - - HKY30R
DPDU 132R/L LLSDN42 LLP14 LLCL24 |LLCS108 - - - HKY30R
DPDH 140R/L LLSDN42 LLP14 LLCL24 |LLCS108 - - - HKY30R
DPDZ * 150R/L LLSDN53 LLP15 LLCL15 |LLCS208 - - - HKY30R
DPCL 150R/L LLSCNG63 LLP16 LLCL16 |LLCS110 - - - HKY40R
163R/L LLSCNG63 LLP16 LLCL16 |LLCS110 - - - HKY40R
DPVP 150R/L PV322 P11S - HSP05008C - - EO3 HKY25R
132R/L PT32 BCP201 - - C4 CBT3N - HKY30R
DCTU 140R/L PT42 BCP251 - - C5 CBT4F - HKY40R
150R/L PT42 BCP251 - - C5 CBT4F - HKY40R

*DPDH150R/L can be compatible with 140R/L.

D TYPE (FOR GROOVING AND THREADING)

Old Type Tool Number

7

>

/S

Type Size Lock Pin Lock Screw Stop Ring Wrench

DPT2 132R P21S HSP08014 EO1 HKY40R
140R P21S HSP08014 EO1 HKY40R

DPT4 132R P21S HSP08014 EO1 HKY40R
140R P21S HSP08014 EO1 HKY40R




F TYPE

0ld Type Tool Number ﬁ \@j‘ @ %
Type Size Shim Shim Pin Clamp Set Breaker Piece Wrench
116R/L - - C3 CBS3 HKY25R
120R/L = = C3 CBS3 HKY25R
FCSK
125R/L PS42 BCP252 C4 CBS4F HKY30R
132R/L PS42 BCP251 C4 CBS4F HKY30R
216R/L - - C3 CBS3 HKY25R
FCSK 220R/L = = C3 CBS3 HKY25R
225R/L PS42 BCP252 C4 CBS4F HKY30R
FCTU 232R/L PT32 BCP201 C4 CBT3F HKY30R

F TYPE (FOR GROOVING AND THREADING)

@) R LF
Old Type Tool Number @} \‘? § @ /@
Type Size Clamp Bridge | Clamp Set Clamp Screw Shim Shim Pin Stop Ring Wrench
116R/L LK1 - HBH04012 - - - HKY25R
120R/L LK1 HBH04012 - - - HKY25R
125R/L LK1 - HBH04012 - - - HKY25R
FCL5 132R/L LK1 - HBH04012 - - - HKY25R
216RIL LK1 - HBH04012 - - - HKY25R
220R/L LK1 - HBH04012 - - - HKY25R
225RIL LK1 — HBH04012 - — — HKY25R
M16R - C3 - - - - HKY25R
Q20R - C4 - - - - HKY30R
NTE R25R — C4 - - - - HKY30R
R216R - C3 - - - - HKY25R
S220R — C4 - - - - HKY30R
T225R — C4 - - — — HKY30R
K16R11 - - TS25 - - - TKYO8F
M16R - - CS350860T - - - TKY15F
P20R SETK51 — SETS51 CT32T1 HFC03008 CR4 IEATS =N
R25R SETK51 - SETS51 CT32T1 HFC03008 CR4 A=,
SNTF M210R11 - — TS25 - - - TKYO8F
Q212R11 - - TS25 - - - TKYO8F
R216R — - CS350860T - - - TKY15F
S220R SETK51 - SETS51 CT32T1 HFC03008 CR4 TKY15F
T225R SETK51 — SETS51 CT32T1 HFC03008 CR4 TKY15F
120R/L3M - BC5 - - - - TKY20R
125R/L3M - BC5 - - - - TKY20R
132R/L3M - BC5 - - - - TKY20R
120R/L4M - BC5 - - - - TKY20R
FCDG4 | 25RiLaM - BC5 - - - - TKY20R
132R/L4M - BC5 - - - - TKY20R
125R/L5M - BC5 - - - - TKY20R
132R/L5M - BC5 - - — — TKY20R
120R/L4J - BC5 - - - - TKY20R
125R/L4J - BC5 - - - - TKY20R
FCDG4 | 132R/L4J - BC5 - - - - TKY20R
125R/L5J - BC5 - - - - TKY20R
132R/L5J - BC5 - - — — TKY20R

n SPARE PARTS

Q025



u SPARE PARTS

Q026

SPARE PARTS

REPLACEMENT PARTS FOR OLD TYPE TOOLS

(BORING BARS)

M TYPE
/~
o) | @ &
0ld Type Tool Number & \4] = § % K@
Shim Shim Pin |Clamp Bridge| Side Lock Plate Spring Clamp Screw| Wrench Plug
A25RMWLNR/L08 - - CCK13 | CPT24 | MES2 | SLCS105 | [1< 208 |HGM-PT1/4
A32SMWLNRI/LOS ~ [WPSWC43| CCP44 | CCKI3 | CPT24 | MES2 | SLCS105 | [1</20R |HGM-PT3/8
A40TMWLNR/LO08 WPSWC43| CCP44 CCK13 CPT24 MES2 SLCS105 :?ﬁrgs HGM-PT3/8
P TYPE
©
Old Type Tool Number \/ & /t//}"
Shim Shim Pin Clamp Lever Clamp Screw Wrench Plug
A50UPSKNR/L19 LLSSP63 LLP16 LLCL16 LLCS310 HKY40R HGM-PT3/8
A40TPCLNR/L16 LLSCN53 LLP15 LLCL25 LLCS508 HKY30R HGM-PT3/8
AS50UPCLNR/L19 LLSCP63 LLP16 LLCL16 LLCS310 HKY40R HGM-PT3/8
S TYPE (CARBIDE SHANK)
& &
Old Type Tool Number § /@
Clamp Screw Wrench
C SSKCR/L09 TS4 TKY15F
Cs 3SDUCR/L15 TS5 TKY25F
Cs TS25 TKYO8F
Cs TS4 TKY15F
Cs TS5 TKY25F
Cs TS25 TKYO8F
Cs TS4 TKY15F
Cs TS5 TKY25F
C TS4 TKY15F
S TYPE (STEEL SHANK)
& A
Old Type Tool Number § /Q}
Clamp Screw Wrench
S¢ SSKCR/L12 TS5 TKY25F
S¢ DQCR/L15 TS5 TKY25F
S¢ +SCZCR/L06 TS25 TKYO8F
S¢ CZCR/L09 TS4 TKY15F
S¢ +SCZCR/L12 TS5 TKY25F
S¢ ’SDZCR11 TS4 TKY15F



REPLACEMENT PARTS FOR OLD TYPE TOOLS

(BORING UNITS)

UNIT
&> ya |
Old Type Tool Number & Bush Washer Leaf Spring
Washer Screw Bush Screw Wrench
NA1 HFC03008 HY-A1 HKY20R
NV1 HFC03008 HY-V1 HKY20R
NA2 HSC03010 HY2 ﬂ§¥§g§ The parts above are not sold separately as
NV2 HSC03010 HY?2 EE;('}%R accuracy can only be guaranteed by having the
FIKY20R complete set.
NA3 HSC04010 HY3 HKY30R Please contact us for questions about parts
NV3 HSC04010 HY3 ISZOR replacement.
NA4 HSC05012 HY4 ARYSSR
NV4 HSC05012 HY4 NSO
CARTRIDGE
& | & | &
0Old Type Tool Number & =\
Clamp Lever Clamp Screw Shim Shim Pin Spanner Wrench
NASP11 - CS250T - - HR12 TKYO8F
NVSP11 = CS250T = - HR12 TKYO08F
NASP21 - CS300890T - - HR12 TKYO8F
NVSP21 = CS300890T = = HR12 TKYO8F
NAPN21 LLCL12S LLCS103 — - HR12 HKY20F
NVPN21 LLCL12S LLCS103 - - HR12 HKY20F
NASP31 - CS300890T - - HR34 TKYO8F
NVSP31 = CS300890T = = HR34 TKYO8F
NAPN31 LLCL12S LLCS103 — - HR34 HKY20F
NVPN31 LLCL12S LLCS103 - - HR34 HKY20F
NAPN41 LLCL13 LLCS106 LLSTN32 LLP13 HR34 HKY25F
NVPN41 LLCL13 LLCS106 LLSTN32 LLP13 HR34 HKY25F

SPARE PARTS

Qo027




u SPARE PARTS

Q028

SPARE PARTS

REPLACEMENT PARTS FOR OLD TYPE TOOLS
(FACE MILLS)

AF5000 TYPE

©
A
0ld Type Tool Number 7, & Recommended
Wedge Clamp Screw Adjust Screw Wrench Wrench
AF5000 Type CWAF5R/L LS10T KS1S TKY25T HKY15R NF10000 (©M072)
BAP300 TYPE
p
& A
0ld Type Tool Number & VA & Recemmended
Clamp Screw Wrench
BAP300 Type TS25 TKYO8F APX3000 (©M096)
BAP400 TYPE
F @ D
& 5
Old Type Tool Number \§ / @ Recz)c:rr&rt'r;:rn']ded
Clamp Screw Wrench
BAP400-040A04R TS43 TKY15F
BAP400-050A05R TS43 TKY15F
BAP400-063A06R TS43 TKY15F
BAP400R0307C TS43 TKY15F APX4000 (©M102)
BAP400R0408D TS43 TKY15F
BAP400R0509E TS43 TKY15D
BAP400R0610E TS43 TKY15D
BF407 TYPE
i — {i} 4
Old Type Tool Number ] Q\\\i\g @\\\{ Recocn;rt\g:rnded
Wedge Clamp Screw Setting Screw Wrench
BF407R0812K CWSF407TR2 LS15T CAS51T TKY25T
BF407R1016K CWSF407TR2 LS15T CAS51T TKY25T -
BF407R1218P CWSF407TR2 LS15T CAS51T TKY25T
BN425 TYPE
0ld Type Tool Number .‘ & Recommended
Wedge Clamp Screw Wrench
BN425 Type CWS43SNN LS14T TKY25T -
BOE TYPE
S /’Q@Q} f
§ 2 | £ N |/
2 & g Recommended
Old Type Tool Number \{\\\&' & \&\& Cutter
Set Bolt Set Bolt Clamp Screw | Wrench (Insert) | Wrench (Set Bolt)
BOER0202B LS21 - CS501290T TKY25T HKY50R
BOE-050A02R LS20 = CS501290T TKY25T HKY50R
BOER2H03B - BOES101 CS501290T TKY25T HKY80R
BOE-063A03R = BOES101 CS501290T TKY25T HKY80R OCTACUT (©M180)
BOER0304C - - CS501290T TKY25T -
BOER0405D = HSC16035 CS501290T TKY25T =




BSX400 TYPE

F @ D
&
0ld Type Tool Number & VA R Recommended
Clamp Screw Wrench
BSX400R05004A TS43 TKY15F
BSX400R06305A TS43 TKY15F
BSX400R08006C TS43 TKY15F
BSX400R10008D TS43 TKY15F ASX400 (OM080)
BSX400R12510E TS43 TKY15D
BSX400R16012E TS43 TKY15D
BSX500 TYPE
& <y
0ld Type Tool Number & & S S7 Recommended
Clamp Screw Shim Screw Shim Wrench
BSX500 Type CSF401260T WCS604010H STBS500N TKY20D ASX400 (©M080)
BXD7000 TYPE
&
0ld Type Tool Number & Recommended
Clamp Screw Wrench
BXD7000 Type TS5SL TKY25D AXD7000 (©M142)
BZC400 TYPE
A S
A3 S
Old Type Tool Number @‘”’ \\‘:‘fg‘ , Recocn;rt\:rn cey
Clamp Screw Set Bolt Wrench (Wedge) Wrench (Set Bolt)
BZC400-032A03R CS350990T LS24 TKY10F HKY40R
BZC400-040A04R CS350990T - TKY10F - APX4000 (©M102)
BZC400R0408D CS350990T - TKY10F -
E404 TYPE
D) & [e) | & ,
Old Type Tool Number @ § @ § E @' Recocnlertrggfded
Locator |Locator Screw Shim Shim Screw | Wedge | ClampSoew(Wedge) | Wrench | Wrench
E404 Type SSE41R | SPS1 SCD43 STS1 |CWS3R/L| WS1 |[TKY10R|TKY25T -
FBP415 TYPE
Q %
<2 & N
0Id Type Tool Number S S @ & & / Recommended
Shim Wedge-T |Clamp Screw| Shim Screw |Wrench (Wedge) | Wrench (Shim)
FBP415R0308C
FBP415R0410D
FBP415R0514E
FBP415R0618F STSP415R [CWSP415TR LS10T TS32 TKY25T TKYO8F |AHX640W (©@M054)
FBP415R0822K
FBP415R1028K
FBP415R1234P

n SPARE PARTS

Q029



u SPARE PARTS

Q030

SPARE PARTS

REPLACEMENT PARTS FOR OLD TYPE TOOLS
(FACE MILLS)

FN548 TYPE
> © %
@ Hexagonal Recommended
0Old Type Tool Number % N Wrench Head Cutter
Wedge Clamp Screw Wrench
120QSPK x 80 6.35[ 1x 4
FN548 Type cws4 LS14 HKY40T | (ANNON-SEIKI CO. | (KYOKUTO MFG CO) -
LSE445 TYPE
f /] Q &
£ .’ § % A
N> “ N Recommended
Old Type Tool Number \-/ @ | S \&S‘ / Cutter
Shim Shim Screw Wedge Clamp Screw |Wrench (Wedge)|  Wrench
LSE445 Type STBE445NF| CS300890T |CWSE445TR LS15T TKY25T TKYO8F ASX445 (QM030)
MG300, 400 TYPE
p
A5 <
2 NS Recommended
0Old Type Tool Number \\\& VA e
Clamp Screw Wrench
MG300 Type CS350990T TKY10F —
MG400 Type CS451190T TKY20F ASX400 (©M080)
MG345, 445 TYPE
{ S
0ld Type Tool Number &7 Val Recommended
Clamp Screw Wrench
MG345 Type CS350990T TKY10F
MG445 Type CS451190T TKY20F ASX445 (OM030)
MGP445 TYPE
f
£
Old Type Tool Number \@” % RecoCTth\;eernded
Clamp Screw Wrench
MGP445 Type CS401160T TKY15D ASX445 (QM030)
MSD445 TYPE
’ /&\@ R ded
Old Type Tool Number | \@‘ ecoCn:th’?:rn e
Wedge Clamp Screw Wrench
MSD445 Type CWMSE445R2 LS15T TKY25T ASX445 (QM030)
MSE445 TYPE
’ /&‘@ R ded
Old Type Tool Number | \\i\&‘ ecocn;rt\gsp <
Wedge Clamp Screw Wrench
MSE445 Type CWMSE445R2 LS15T TKY25T ASX445 (QM030)
NR10000 TYPE
AN ARCORN By
% % S R ded
0ld Type Tool Number N & "l’ & & ecommende
Wedge Clamp Screw |Adjusting Wedge | Adjusting Screw | Clamp Screw| Wrench
NR10000 Type CWAF10R2 LS10T CWAF10N LS15T CSAF10 TKY25T —




NSE300 TYPE

&> ( <,
Old Type Tool Number !\QI @‘! \\\\\%Z § / N/ Recocn;rt'?:rnded
Locator | Wedge-T |Clamp Screw |Locator Screw |Wrench (Wedge)| Wrench (Locator)| Set Bolt
NSE300-050A04R _
NSE300-063A05R CWTSE300TR| LS19T TKY15T
NSE300R0408D HSC16035
NSE300R0306C
NSE300R0510E SPTSE300R CWNSE300TR| LS10T Ts32 TKY25T TKYO8F ASX400 (OM080)
NSE300R0612F -
NSE300R504S32
NSE300R635532 CWTSE300TR| LS19T TKY15T
* Clamp Torque (N » m) : LS10T=8.5, LS19T=5.0, TS32=1.0
NSE400 TYPE
- ( > %‘ @ Recommended
Old Type Tool Number \\@ @ﬂ & S VA e
Locator | Wedge-T |Clamp Screw |Locator Screw |Wrench (Wedge)| Wrench (Locator) |  Set Bolt
NSE400R0306C -
NSE400R0407D HSC16035
NSE400R0508E
NSE400R0610F SPTSE400R | CWSE300TR| LS10TS TS32 TKY25T | TKYO8F _ ASX400 (©M080)
NSE400R503S32
NSE400R634S32
P425, P525 TYPE
— 6D
)| D /o)| & Vo
Old Type Tool Number _©] §“§ § @' Recocn;rt\g:rnded
Locator |Locator Screw Shim Shim Screw | Wedge | Clamp Screw (Wedge)| Wrench | Wrench
P425 Type SSP41R | SPS1 |SCP431R/L| STS1 |CWS1R/L| WS1 |TKY10R|TKY25T| ASX445 (@M030)
P525 Type SSP51R | SPS1 |SCP521R/L| STS1 |CWS1R/L| WS1 |TKY10R|TKY25T| SE515 (@M062)
QBF407 TYPE
— D R
e | £ | £ || &
G 9% S R ded
0ld Type Tool Number ~- & & 4 e
Wedge Clamp Screw |Setting Screw| Guide Plate | Stop Screw Wrench
QBF407R0304Q CWSF407TR1|  LS15T CAS51T QPAR1 | TFC04010 | THYZIR
QBF407R0406Q CWSF407TR1|  LS15T CAS51T QPAR1 | TFC04010 | THYZOR -
QBF407R0508Q CWSF407TR2|  LS15T CAS51T QPAR1 | TFC04010 | THYZoR
QBP415 TYPE
©
DAY
Old Type Tool Number @ § \\\\\ng RecoCn:jrt\;eernded
Shim Shim Pin Wedge-T Clamp Screw Wrench
QBP415 Type STSP415R TS32 QWGR1 LS10T TKY25T —
QF10000 TYPE
& Q
D= £ S
S
0ld Type Tool Number @7 § @ S ‘||’ & & Recommended
Wedge |Clamp Screw|Guide Plate| Stop Screw |Adjusting Wedge| Adjusting Screw | Stop Screw | Wrench
QF10000 Type CWAF1OR3| LS15T | QPCR1 | TFC04010| CWAF1ON| LS10T |CSAF10 | Thvaor -

SPARE PARTS

Q031




SPARE PARTS

Q032

SPARE PARTS

REPLACEMENT PARTS FOR OLD TYPE TOOLS
(FACE MILLS)

QSE415 TYPE
= © / R
(@ | & 2| @ | B %
G Vad S R ded
Old Type Tool Number T \\\§‘ § § eC%TthT;:P &
Wedge Clamp Screw |Setting Screw| Guide Plate | Stop Screw Wrench
QSE415 Type CWSF407TR3| LS15T | CASSIT | QPAR1 | TFC04010 | Thv2R -
SE300 TYPE
— — ©
| ) | &) (&) £~
RS WSy <, Recommended
Old Type Tool Number ‘“‘ "L“ || ‘ & Cutter
Locator |Locator (Wiper)| Wedge-T Wedge-S |Wedge-S (Wiper)|Clamp Screw| Wrench
SE300 Type SPSE300R| SPSEW300R |CWNSE300TR|CWSE300SN| CWSEW300SN | LS10T |TKY25T —
SE400 TYPE
NS/ @ | ' Recommended
Old Type Tool Number \'4’ \'44’ ‘ I ‘ Cutter
Locator | Locator (Wiper) | Wedge-T Wedge-S Clamp Screw Wrench
SE400 Type SPSE400R | SPSEW400R | CWSE400TN |CWSE400SN %'SSEJ(%anmc:LsmT) TKY25T -
SE415 TYPE
of
Recommended
Old Type Tool Number " ‘ Cutter
Locator Shim Wedge-T | Wedge-S |Clamp Screw| Wrench Set Bolt
SE415R0304C
SE415R0306C HSC12035
SE415R0405D
SE415R0407D SPSE415R | STSE415R |CWSE445TR [CWSE445SN|  LS15T TKY25T | HSC16035| SE515 (©M062)
SE41 5I|20506E
SE415R0611F
SE445 TYPE
® % |.’ |/ ‘ (’/}i\% 2% R ded
Y ecommende
0Old Type Tool Number S & A
Locator Shim Wedge-T | Wedge-S | Clamp Screw | Wrench Set Bolt
SE445R/L03:C HSC12035
SE445R/L04:D HSC16035 ASX445 (OM030
SE4 45R{L0506E SPSE445R/L | STSE445R/L | CWSE445TR/IL|CWSE445SN|  LS15T TKY25T ( )
SE445R/L1214P
SE545 TYPE
® % |.’ |/ ‘ (’/}i\% Zk R ded
Y ecommende
0Old Type Tool Number S §$ AL
Locator Shim Wedge-T | Wedge-S | Clamp Screw | Wrench Set Bolt
SE545R0405D HSC16035
SE545IIQ0506E SPSE545R | STSE545R | CWSE545TR|CWSES45SN|  LS15T TKY25T _ ASX445 (QM030)
SE545R1012K




SHP400 TYPE

& &
Old Type Tool Number ” \\&&\% g / @ Recc&n&rg:? =
Wedge-T Clamp Screw |Locator Screw| Wrench (Wedge) | Wrench (Locator)
SHP400 Type CWSE300TR/L LS10T TS32 TKY25T TKYO8F ASX400 (©M080)
VIP400 TYPE
&
Old Type Tool Number § / @ Recocn;rt\::rnded
Clamp Screw Wrench
VIP400 Type CS501160T TKY20F ASX400 (@M080)
VIP445 TYPE
o
Old Type Tool Number § / @ Recocn;rt\::rnded
Clamp Screw Wrench
VIP445 Type CS501160T TKY20F ASX445 (@M030)

SPARE PARTS

Qo033



u SPARE PARTS

Q034

SPARE PARTS

REPLACEMENT PARTS FOR OLD TYPE TOOLS

(END MILLS)

BAE TYPE
\@ @ Recommended
Old Type Tool Number $ VA e
Clamp Screw Wrench
BAE500R161S16 TS42 TKY15F
BAE500R201S20 TS42 TKY15F
BAE500R252S25 TS42 TKY15F
BAE500R323S32 TS4 TKY15F APX4000 (©M102)
BAE500R403S32 TS4 TKY15F
BAE500R504S32 TS4 TKY15F
BAEG600 Type TS52 TKY25F
BAP300 TYPE
‘@ Recommended
Old Type Tool Number & End Mill
Clamp Screw Wrench
BAP300 (Under-cut Type) TS25 TKYO08F —
BAP400 TYPE
@ @ Recommended
Old Type Tool Number & / End Mill
Clamp Screw Wrench
BAP400R252S25 TS4 TKY15F
BAP400R323S32 TS43 TKY15F
BAP400R404S32 TS43 TKY15F APX4000 (©M102)
BAP400R505S32 TS43 TKY15F
BAP400R636S32 TS43 TKY15F
BAP400 (Long Cutting Edge Type) TYPE
‘@ @ Recommended
Old Type Tool Number & / End Mill
Clamp Screw Wrench
BAP400 (Long Cutting Edge Type) TS43 TKY15F APX4000 (©M102)
BAP3500 TYPE
\‘\5% @ Recommended
Old Type Tool Number & / End Mill
Clamp Screw Wrench
BAP3500R161SA16: TS3 TKYO8F
BAP3500R161SN1 TS3 TKYO8F
BAP3500R202SA2 TS32 TKYO8F
BAP3500R202SN2 TS32 TKYO08F
BAP3500R253SA25: TS32 TKYO8F APX3000 (SM096)
BAP3500R253SN2 TS32 TKYO8F
BAP3500R324SA32: TS32 TKYO8F
BAP3500R324SN3 TS32 TKYO8F
BAP3500R405SA32: TS32 TKYO8F
BAP3500R405SN32 > TS32 TKYO8F




BOE TYPE

Y

2 Recommended
Old Type Tool Number \&\& End Mil
Clamp Screw Wrench
BOE Type CS501290T TKY25T (OCTACUT (©M180)
BRE TYPE
) )
Old Type Tool Number § \. 4 &&& Recgrr:lim'\imded
Clamp Screw | Clamp Bridge | ©'3BR 57" Spring Wrench
BRE Type TS5S AMS5 BRS105 ASS3 TKY25R BRP (©M196)
BSP TYPE
Old Type Tool Number \@”” V4 @ Recgrr:lim'\imded
Clamp Screw Wrench
BSPR Type CS451190T TKY20F APX3000 (©M096)
BSX300 TYPE
o
Old Type Tool Number § / @ Recgrr:lim'\imded
Clamp Screw Wrench
BSX300 Type TS32 TKYO08F APX3000 (©M096)
BSX400 TYPE
/’/’
D (
0ld Type Tool Number 4 VA 9 Recomimerded
Clamp Screw Wrench
BSX400 Type TS43 TKY15F ASX400 (©M080)
BSX500 TYPE
Old Type Tool Number § \\\x\g” \'/ / Recgrr::im'\ﬁmded
Clamp Screw Shim Screw Shim Wrench
BSX500 Type CSF401260T WCS604010H STBS500N TKY20D ASX400 (©M080)
BXD7000 TYPE
@ ! R ded
Old Type Tool Number @‘ / ecgr%mhﬁm e
Clamp Screw Wrench
BXD7000R251SA25SA/B TS58 TKY25D
BXD7000R321SA32SA/B TS5S TKY25D AXD7000 (©M142)
BXD7000R402SA42SA/B TS5SL TKY25D
BZC400 TYPE
£
& <
&z 2% Recommended
Old Type Tool Number \\\\ / End Mil
Clamp Screw Wrench
BZC400 Type CS350990T TKY10F APX4000 (©M102)

SPARE PARTS

Q035




u SPARE PARTS

Q036

SPARE PARTS

REPLACEMENT PARTS FOR OLD TYPE TOOLS
(END MILLS)

CV TYPE
& f
S &
0ld Type Tool Number S & Recomimended
Clamp Screw | Clamp Bridge | ©'3BR. 53w Spring Wrench
CV10R253S832 TS4 AMS3 BRS103 ASS2 TKY15R
CV12R323S32 TS4 AMS3 BRS103 ASS2 TKY15R BRP (©M196)
CV16R403S32 TS5 AMS5 BRS105 ASS3 TKY25R
CV20 TYPE
©
& ’
0ld Type Tool Number & = Recommended
Clamp Screw Wedge Wrench
CV20R403S32 LS14T CwWCV20 TKY25T -
DCSD, DCSN TYPE
% Recommended
0ld Type Tool Number @ &\&\ @ f Zk ommen
Shim Screw Clamp Screw Shim Screw Clamp Screw | Wrench | Wrench
DCSDR2063SN - TS58 — DKS5 HKY40R|TKY25T
DCSDR2063LN = TS5S - DKS5 HKY40R |TKY25T
DCSDR2080SN - TS5S - DKS5 HKY40R | TKY25T
DCSDR2100SN = TS5S - DKS5 HKY40R |TKY25T
DCSNR2063SN JSS7 TS5L JSS7 DKS5 HKY40R|TKY25T
DCSNR2063LN JSS7 TS5L JSS7 DKS5 HKY40R|TKY25T| SPX (©M215)
DCSDR2063SB - TS58 — DKS5 HKY40R|TKY25T
DCSDR2063LN = TS5S - DKS5 HKY40R |TKY25T
DCSNR2063SB JSS7 TS5L JSS7 DKS5 HKY40R |TKY25T
DCSDR2080SA = TS5S - DKS5 HKY40R | TKY25T
DCSNR2080SA JSS7 TS5L JSS7 DKS5 HKY40R | TKY25T
ECMP TYPE
Old Type Tool Number @ f Recommended
yp & End Mill
Clamp Screw Wrench
ECMP252S25 TS4 TKY15R
ECMP322S32 TS5 TKY25R —
ECMP402S42 TS5 TKY25R
FF3000 TYPE
D
< 6 ya
A Recommended
Old Type Tool Number & End Mill
Shim Lock Pin Wrench
FF3000 Type FFSS FFP HKY25L —
FSTE TYPE
= @
A\N\Y Ya
Old Type Tool Number ‘P\J ‘/ & Recomimended
Locator Wedge Clamp Screw | Locator Screw Wrench
FSTE Type TS441R CWFSTE LS10T CPMO03008 TKY25T ASX400 (©M080)




MG200, 300 TYPE

V4

&s &
S N/ Recommended
Old Type Tool Number \%& / End Mill
Clamp Screw Wrench
MG200 Type CS300890T TKYO08F -
MG300 Type CS350990T TKY10F ASX400 (©M080)
MG245, 345 TYPE
& <
& NS Recommended
Old Type Tool Number %\\ / End Mill
Clamp Screw Wrench
MG245 Type CS300890T TKYO8F ASX445 (OM030)
MG345 Type CS350990T TKY10F
MSE445 TYPE
— Y
Old Type Tool Number | \\\‘k% Recgr%mﬁmded
Wedge Clamp Screw Wrench
MSE445 Type CWMSE445R1 LS15T TKY25T ASX445 (©M030)
NSE300 TYPE
= | S D
\Y & S D
Old Type Tool Number ‘V‘%‘ "I Q\i\\\g‘ § / s/ Recgr%m,\ﬁmded
Locator Wedge-T |Clamp Screw |Locator Screw |Wrench (Wedge)| Wrench (Locator)
NSE300R504S32
NSE300R635532 SPTSE300R|CWTSE300TR LS19T TS32 TKY15T TKYO08F [ ASX400 (©M080)
NSE400 TYPE
NS/ 4 3
Old Type Tool Number "”%‘ ’II g\\\w @\& / @ Recgr%mhﬁi“ded
Locator Wedge-T |Clamp Screw |Locator Screw |Wrench (Wedge)| Wrench (Locator)
NSE400R503S32
NSE400R634532 SPTSE400R| CWSE300TR| LS10TS TS32 TKY25T TKYO08F | ASX400 (©M080)
SE300 TYPE o
[
—~— &) <
a~s a ay & &
0ld Type Tool Number Ry ||| \' & Recommended &
o
Locator Wedge-T Wedge-S Clamp Screw Wrench »n
SE300 Type SPSE300R |CWNSE300TR| CWSE300SN LS10T TKY25T -
SHP400 TYPE
= ,.| © & 2
NS O \ (N
0ld Type Tool Number (X ’I & & J & Recommlerded
Locator Wedge-T | Clamp Screw | Locator Screw | Wrench (Insert) | Wrench (Locator)
SHP400 Type SPSHP400R | CWSE300TR| LS10T TS32 TKY25T TKYO08F ASX400 (©M080)

Qo037



u SPARE PARTS

Qo038

SPARE PARTS

REPLACEMENT PARTS FOR OLD TYPE TOOLS
(END MILLS)

SRE TYPE
p
= ZET S
Old Type Tool Number & = J & Recomimerded
Clamp Screw Clamp Bridge Stop Ring Wrench
SRER100SS16 TS253 - - TKYO8F
SRER120SS16 TS3 = = TKYO8F
SRER140SS16 TS3 - - TKYO8F
SRER160SS16 TS35 = = TKY10F
SRER180SS20 TS35 - - TKY10F
SRER200SS20 SRS5 SRK1R CR4 TKY20F -
SRER200SL20 SRS5 SRK1R CR4 TKY20F
SRER250SS25 SRS5 SRK1R CR4 TKY20F
SRER250SL25 SRS5 SRK1R CR4 TKY20F
SRER300SS32 SRS5 SRK1R CR4 TKY20F
SRER300SL32 SRS5 SRK1R CR4 TKY20F
STLG TYPE
§ ¢
,7\% £ N
Old Type Tool Number &g”” Y O Recomimerded
Clamp Screw Wrench
STLGR22S32 CS300890T TKYO8F KSMG (©M252)
STLGR38S32 CS350990T TKY10F
VIPER TYPE
Old Type Tool Number g /ﬁ Recgrr:jml\ﬁirlllded
Clamp Screw Wrench
VIPER Type CS400990T TKY15D SPX (@M215)
ZR TYPE
Old Type Tool Number Recgrr:zim'\imded

Clamp Screw Wrench
ZR202C/T TS25 TKYO8F
ZR252CIT CS300890T TKYO8F
ZR322CIT CS300990T TKY10F -
ZR402C/T CS451190T TKY20F
ZR502C/T CS451190T TKY20F




REPLACEMENT PARTS FOR OLD TYPE TOOLS
(BALL NOSE END MILLS)

FBE2 TYPE
:'
Old Type Tool Number g% f Recgmjmmded
Clamp Screw Wrench
FBE2200SM CS300590T TKYO8R
FBE2250SM CS350790T TKY10R
FBE2300SM CS400990T TKY15R
FBE2200SF CS300590T TKY08R SRF (OM228)
FBE2250SF CS350790T TKY10R
FBE2300SF CS400990T TKY15R
TBE1/TBE2 TYPE
F & R
TS & & cs @)
S Oz /\/
0ld Type Tool Number S S Recomimerded
Clamp Screw Wrench na
R Peripheral Peripheral

TBE1100SS TS3 - TKYO8F — - -
TBE1100SM TS3 - TKYO8F - - - -
TBE1100S TS3 — TKYO8F — - —
TBE1150S CS300790TS - - TKY10R - -
TBE1200S CS400990T - - TKY15R - -
TBE1250S CS400990T - - TKY15R - -
TBE1300S CS501290T - - TKY25R - -
TBE2150S TS254 = TKYO8F - - —
TBE2150SM TS254 - - - - -
TBE2160S TS254 = - - — —
TBE2160SM TS254 - - - - -
TBE2200S CS350790T = = TKY10R = =
TBE2200SM CS350790T - - TKY10R - -
TBE2250S CS400990T = = TKY15R = =
TBE2250SM CS400990T - - TKY15R - -
TBE2300S CS501290T = = TKY25R = =
TBE2300SM CS501290T - - TKY25R - -
TBE1150SU CS300790TS - - TKY10R - - SRM2 (©M236)
TBE1200SU CS400990T - — TKY15R - -
TBE1250SU CS400990T - - TKY15R - -
TBE1300SU CS501290T - - TKY25R - -
TBE2150SU TS254 - TKYO8F - - -
TBE2160SU TS254 - TKYO8F - - -
TBE2200SU CS350790T - - TKY10R - -
TBE2250SU CS400990T - - TKY15R - -
TBE2300SU CS501290T - — TKY25R - -
TBE1200SL CS400990T | TS3 - TKY15R TKYO8F -
TBE1250SL CS400990T | TS3 = TKY15R TKYO08F -
TBE1300SL CS501290T | TS4 - TKY25R - TKY15R
TBE2200SL CS350790T | CS350790T = TKY10R = TKY10R
TBE2250SL CS400990T | CS400990T - TKY15R - TKY15R
TBE2300SL CS501290T | CS400990T = TKY25R = TKY15R

n SPARE PARTS

Q039



u SPARE PARTS

Q040

SPARE PARTS

REPLACEMENT PARTS FOR OLD TYPE TOOLS

(BALL NOSE END MILLS)

TRM2 TYPE
oldT (\& @"/ / Recommended
ype Tool Number End Mill
Clamp Screw Wrench
Inner, Outer Peripheral Inner, Outer Peripheral
TRM2200SM CS300790TS - TKY10R -
TRM2250SM CS400990T = TKY15R =
TRM2300SM CS501290T - TKY25R -
TRM2200SL CS300790TS TS3 TKY10R TKYO8F
TRM2250SL CS400990T TS3 TKY15R TKYO8F SRM2 (©M236)
TRM2300SL CS501290T TS4 TKY25R TKY15R
TRM2200SF CS300790TS TS3 TKY10R TKYO8F
TRM2250SF CS400990T TS3 TKY15R TKYO08F
TRM2300SF CS501290T TS4 TKY25R TKY15R
TRM4 TYPE
/ R T
0ld Type Tool Number g% f % Recomimended
Clamp Screw Wrench
TRM4400SL CS451190T TKY20R
TRM4500SL CS501290T TKY25T SRM2-40/50
TRM4400SF CS451190T TKY20R (©M244)
TRM4500SF CS501290T TKY25T




REPLACEMENT PARTS FOR OLD TYPE TOOLS
(DRILLS)

TASS TYPE (STANDARD)

TASS TYPE (FLANGE)

Tool NusmBer §§ Vo RecOTI ™™ Jool Number %&% 4 NV Recom e
Clamp Screw Wrench Clamp Screw Wrench
TASS1600S32 TS202 TKYO6F TASS1600C20 TS202 TKYO6F
TASS1700S32 7S202 TKYO6F TASS1650C20 7S202 TKYO6F
TASS1800S32 T7S202 TKYO6F TASS1700C20 75202 TKYO6F
TASS1900S32 7S202 TKYO6F TASS1750C20 7S202 TKYO6F
TASS2000S32 TS25 TKYO8F TASS1800C20 TS202 TKYO6F
TASS2100S32 TS25 TKYO8F TASS1850C20 TS202 TKYO6F
TASS2200S32 TS25 TKYO8F TASS1900C20 75202 TKYO6F
TASS2300S32 TS25 TKYO8F TASS1950C20 TS202 TKYO6F
TASS2400S32 TS25 TKYO8F TASS2000C20 TS25 TKYO8F
TASS2500532 TS32 TKYO8F _ TASS2100C25 TS25 TKYO8F
TASS2600S32 TS32 TKY08F {g’;'z’ﬂ')' TASS2200C25 TS25 TKY08F
TASS2700S32 TS32 TKYO8F TASS2300C25 TS25 TKYO8F
TASS2800S32 TS32 TKYO8F TASS2400C25 TS25 TKYO8F
TASS2900S32 TS32 TKYO8F TASS2500C25 TS32 TKYO8F
TASS3000S32 TS43 TKY15F TASS2600C25 TS32 TKYO8F
TASS3100S32 TS43 TKY15F TASS2700C25 TS32 TKYO8F
TASS3200S32 TS43 TKY15F TASS2800C25 TS32 TKYO8F
TASS3300540 TS43 TKY15F TASS2900C25 TS32 TKYO8F
TASS3400S40 TS43 TKY15F TASS3000C25 TS43 TKY15F _
TASS3500S40 TS43 TKY15F TASS3100C32 TS43 TKY15F {g’;'z’ﬂ')'
TASS3600S40 TS43 TKY15F TASS3200C32 TS43 TKY15F
TASS3300C32 TS43 TKY15F
TASS3400C32 TS43 TKY15F
TASS3500C32 TS43 TKY15F
TASS3600C32 TS43 TKY15F
TASS3700C32 TS43 TKY15F
TASS3800C32 TS43 TKY15F
TASS3900C32 TS43 TKY15F
TASS4000C32 TS5 TKY25F
TASS4100C32 TS5 TKY25F
TASS4200C40 TS5 TKY25F
TASS4300C40 TS5 TKY25F
TASS4400C40 TS5 TKY25F
TASS4500C40 TS5 TKY25F
TASS4600C40 TS5 TKY25F
TASS4700C40 TS5 TKY25F
TASS4800C40 TS5 TKY25F
TASS4900C40 TS5 TKY25F
TASS5000C40 TS32 TKYO8F

n SPARE PARTS

Q041



u SPARE PARTS

Q042

SPARE PARTS

REPLACEMENT PARTS FOR OLD TYPE TOOLS
(DRILLS)

TAGS TYPE TAGM TYPE
Old Type \§§ /@/ Recommended Old Type \‘5\%\% /@ Recommended
Tool Number = Drill Tool Number \= Drill
Clamp Screw Wrench Clamp Screw Wrench
TAGS1600F25 TS2 TKYO06F TAGM1600F25 TS2 TKYO06F
TAGS1700F25 TS2 TKYO06F TAGM1700F25 TS2 TKYO06F
TAGS1800F25 TS2 TKYO06F TAGM1800F25 TS2 TKYO06F
TAGS1900F25 TS2 TKYO06F TAGM1900F25 TS2 TKYO06F
TAGS2000F25 TS25 TKYO08F TAGM2000F25 TS25 TKYO08F
TAGS2100F25 TS25 TKYO08F TAGM2100F25 TS25 TKYO08F
TAGS2200F25 TS25 TKYO08F TAGM2200F25 TS25 TKYO08F
TAGS2300F25 TS25 TKYO08F TAGM2300F25 TS25 TKYO08F
TAGS2400F25 TS25 TKYO08F TAGM2400F25 TS25 TKYO08F
TAGS2500F32 TS3 TKYO08F TAGM2500F32 TS3 TKYO08F
TAGS2600F32 TS3 TKYO08F TAGM2600F32 TS3 TKYO08F
TAGS2700F32 TS3 TKYO08F TAGM2700F32 TS3 TKYO08F
TAGS2800F32 TS3 TKYO08F TAGM2800F32 TS3 TKYO08F
TAGS2900F32 TS3 TKYO08F TAGM2900F32 TS3 TKYO08F
TAGS3000F40 TS4 TKY15F TAGM3000F40 TS4 TKY15F
TAGS3100F40 TS4 TKY15F TAGM3100F40 TS4 TKY15F
TAGS3200F40 TS4 TKY15F TAGM3200F40 TS4 TKY15F
TAGS3300F40 TS4 TKY15F TAGM3300F40 TS4 TKY15F
TAGS3400F40 TS4 TKY15F TAGM3400F40 TS4 TKY15F
TAGS3500F40 TS4 TKY15F TAGM3500F40 TS4 TKY15F
TAGS3600F40 TS4 TKY15F TAGM3600F40 TS4 TKY15F
TAGS3700F40 TS4 TKY15F TAF Drill TAGM3700F40 TS4 TKY15F TAF Drill
TAGS3800F40 TS4 TKY15F (©P241) TAGM3800F40 TS4 TKY15F (©P241)
TAGS3900F40 TS4 TKY15F TAGM3900F40 TS4 TKY15F
TAGS4000F40 TS5 TKY25F TAGM4000F40 TS5 TKY25F
TAGS4100F40 TS5 TKY25F TAGM4100F40 TS5 TKY25F
TAGS4200F40 TS5 TKY25F TAGM4200F40 TS5 TKY25F
TAGS4300F40 TS5 TKY25F TAGM4300F40 TS5 TKY25F
TAGS4400F40 TS5 TKY25F TAGM4400F40 TS5 TKY25F
TAGS4500F40 TS5 TKY25F TAGM4500F40 TS5 TKY25F
TAGS4600F40 TS5 TKY25F TAGM4600F40 TS5 TKY25F
TAGS4700F40 TS5 TKY25F TAGM4700F40 TS5 TKY25F
TAGS4800F40 TS5 TKY25F TAGM4800F40 TS5 TKY25F
TAGS4900F40 TS5 TKY25F TAGM4900F40 TS5 TKY25F
TAGS5000F40 TS3 TKYO08F TAGM5000F40 TS3 TKYO08F
TAGS5100F40 TS3 TKYO08F TAGM5100F40 TS3 TKYO08F
TAGS5200F40 TS3 TKYO08F TAGM5200F40 TS3 TKYO08F
TAGS5300F40 TS3 TKYO08F TAGM5300F40 TS3 TKYO08F
TAGS5400F40 TS3 TKYO08F TAGM5400F40 TS3 TKYO08F
TAGS5500F40 TS4 TKY15F TAGM5500F40 TS4 TKY15F
TAGS5600F40 TS4 TKY15F TAGM5600F40 TS4 TKY15F
TAGS5700F40 TS4 TKY15F TAGM5700F40 TS4 TKY15F
TAGS5800F40 TS4 TKY15F TAGM5800F40 TS4 TKY15F
TAGS5900F40 TS4 TKY15F TAGM5900F40 TS4 TKY15F




TAB TYPE NPX TYPE
Old Type &\\% K@ % Recommended Old Type \‘5\%\§ /@ Recommended
Tool Number & = Drill Tool Number - Drill

Clamp Screw | Plug Wrench Clamp Screw Wrench

TAB1700S32 TS3 PT1/4 | TKY08D NPXM2000S25 TS3 TKYO8F

TAB1800S32 TS3 PT1/4 | TKY08D NPXM2100S25 TS3 TKYO8F

TAB1900S32 TS3 PT1/4 | TKY08D NPXM2200S25 TS3 TKYO8F

TAB2000S32 TS32 | PT1/4 | TKY08D NPXM2300S25 TS35 TKY10F

TAB2100S32 TS32 | PT1/4 | TKY08D NPXM2400S32 TS35 TKY10F .

TAB2200S32 | TS32 | PT1/4 | TKY08D NPXM2500S32 S35 TKY10F T(g"F‘,’;g;'

TAB2300S32 TS32 | PT1/4 | TKY08D NPXM2600S32 TS35 TKY10F

TAB2400S32 TS32 | PT1/4 | TKY08D NPXM2700S32 TS4 TKY15F

TAB2500S32 TS32 | PT1/4 | TKY08D NPXM2800S32 TS4 TKY15F

TAB2600S32 TS4 PT1/4 | TKY15D NPXM2900S32 TS4 TKY15F

TAB2700S32 TS4 PT1/4 | TKY15D NPXM3000S32 TS4 TKY15F

TAB2800S32 TS4 PT1/4 | TKY15D

TAB2900S32 TS4 PT1/4 | TKY15D

TAB3000S32 TS4 PT1/4 | TKY15D .

TAB3100S32 | TS4 | PT1/4 | TKY15D {g’;g{ 1")'

TAB3200S32 TS4 PT1/4 | TKY15D

TAB3300S40 TS5 PT1/4 | TKY25D

TAB3400S40 TS5 PT1/4 | TKY25D

TAB3500S40 TS5 PT1/4 | TKY25D

TAB3600S40 TS5 PT1/4 | TKY25D

TAB3700S40 TS5 PT1/4 | TKY25D

TAB3800S40 TS5 PT1/4 | TKY25D

TAB3900S40 TS5 PT1/4 | TKY25D

TAB4000S40 TS5 PT1/4 | TKY25D

TAB4100S40 TS5 PT1/4 | TKY25D

TAB4200S40 TS5 PT1/4 | TKY25D

TAB4300S40 TS5 PT1/4 | TKY25D

TAB4400S40 TS5 PT1/4 | TKY25D

TAB4500S40 TS5 PT1/4 | TKY25D

n SPARE PARTS

Qo043



u SPARE PARTS

Q044

SPARE PARTS

REPLACEMENT PARTS FOR OLD TYPE TOOLS
(DRILLS)

&

WSTAR INSERT TYPE DRILL (TAW TYPE)

J

0ld Type Tool Number S % ﬁ Recommended
Clamp Screw Wrench Plate Anti-seize Lubricant
TAWSNH1400S16 WS254012T TKY08W WPT4405 MK1KS
TAWMNH1400S16 WS254012T TKY08W WPT4405 MK1KS
TAWLNH1400S16 WS254012T TKY0O8W WPT4405 MK1KS
TAWSNH1500S20 WS254013T TKY08W WPT4405 MK1KS
TAWMNH1500S20 WS254013T TKY08W WPT4405 MK1KS
TAWLNH1500S20 WS254013T TKY08W WPT4405 MK1KS
TAWSN1600S20 WS254014T TKY08W WPT4405 MK1KS
TAWMN1600S20 WS254014T TKY08W WPT4405 MK1KS STAW(©P210)
TAWLN1600S20 WS254014T TKY0O8W WPT4405 MK1KS
TAWSN1700S20 WS254015T TKY08W WPT4405 MK1KS
TAWMN1700S20 WS254015T TKY08W WPT4405 MK1KS
TAWLN1700S20 WS254015T TKY08W WPT4405 MK1KS
TAWSN1800S20 WS254016T TKY08W WPT4405 MK1KS
TAWMN1800S20 WS254016T TKY08W WPT4405 MK1KS
TAWLN1800S20 WS254016T TKY0O8W WPT4405 MK1KS




